(&)
Qs ?..:.Em. astate realised onty T 10,000 and S's estate realised
7 2%.000. Show the relevant accounts. 15
e I o i B A A R feats FoAy ST
feaf gy
Ry SReT 400,000 | Py i 4.95.000
CEREHRCR 40,000 | 7= 7 =i = 240000
el P % wEem 3500
P LOOL0 R F gmen 20000 65000
0 S0.000 20000
R 1,30.000
5 80.000

womooowﬁum%nmﬂﬁwm%%wﬁaﬂw@ﬂmgﬁﬂ
1 g e & fe A A 3 3,000 g1 A&

- _r

WM%— &Hﬁ). ﬂlm‘,q HI R
™ 2 25.000 Z 20.000
od T 40.000 -

-

79 @ el 3 Faw 10000 T e T A
28.000 T &1 TEdl g1 A = SR

12001
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ADVANCED FINANCIALACCOUNTING

Note !

(h)

12001

BC-201

[ Meaximum marks o 80

Paper-
wed o3 honry]

Artempt any five questions. Question No. 1 Is

compulsory and answer lo each part of question no. 1.

shonld not be miore than one puge.

- ;
=T O F D7 UF TR B MIHE AR A HiET

Write a short note on fixed capital account, 4
=Tz P EE T Al el T 1
Explain purchase consideration in case of sale of
partnership firm to a company. 4
wﬂ@iﬂﬂ% | g T g5 FE T

ol 4

Why is memorandum revaluation account prepared 7 4

P o e B i v Ll e e ST 4

Why partnership deed is required in partnership 7~ 4

A, B, C, D and E were partners in a firm sharing profits
and losses in the ratio 5:4:3:2: 1 respectively. Unfortunately.
D and E met with a tragic car accident in which both of
them died on the spot. The Goodwill of the firm was
1.30.000 and A, B and C decided to share

furure profits ard losses in the ratio 4; 6: 5 respectively

valuedat ¥

Give journal entry for goodwill”

A

PT.O.



H F wlgw & ara-A A ERa L605 E TE oI g

S Ay A F R wa it e 4

Witte notes m detwt] on the tolicwinge

() Goodsin Transit
O A

{b)  Exchange Suspensc Account

-~ -~ 0o oo

AMEg T S

Lokesh Textiles Ltd. with its Head Oftice at Dethi. invoiced
goods to its branch at Amritsar. at 20¢¢ less than the list price
which is cost plus 100% with instructions that cash sales were
to be made at invoice price and credit sales at catalogue price

(1.e. list price)

3

Stock at invoice price on 1+ April, 2006 6.000

Debtors on 1 April, 2006 5,000

Goods received from Head Offics (Invoice price)  66.000

Sales :

Cash 23.000

Credit 50.000 73.000

Cash recerved from debtors 16.000

Expenses at branch =300

Renuttances to Head Office 60,000

stock atinvoice price on 31 March. 2007 8800

12001

12001

(3)

From the above particulars available from the branch prepare
Branch Stock Account. Branch Adjustment Account. Branch
Profit & Loss Account and Branch Beblors Account for the
year ending 3 fst March, 2007. i

MR TR fftee TRam gue A9 e 4 2 gz oape
ST A B YA T A A - 100% 2 A 20% 39 0 e
ﬁaw_mq@iﬁ%zwwmﬁmﬁmﬂ%&ﬂméﬂ%
BEINECENCE NG i o g |

A

3
15037, 2006 ® d=% 5 W =i 6.000
I %, 2006 B I 5.000
T A AW 9 g (S yw) 66,000
EEAER
BETA 23,000
3ur7 50.000 73.000
A F ome A 46.000
3 e 8.500
TG #F a-Iqm 60,000
314, 2007 1 9% 5w W R 8.800

TR fqgTor | 31 9, 2007 7 79 27 ot o % faw sy
=% ", ST A9 e, ST T-EI G du s e
TR AT e | 15

On I April, 2008, Ram Ltd. purchased from Delhi Motors
5 cars costing ¥ 1,00,000 each on Hire purchase system. The
payment was to he made ¥ 1.00,000 down and remainder in
four equal instalments of Z 1.00.000 each together with interest
at12% p.a,

PTO.



hn

{4)

Ram Ltd. write off depreciation at 10% p.a. on original
cost method. Ram Ltd. could not pay the instalment due on
3 1st March, 2010. After negotiation. Dethi Motors agrecd 10
fewve 2 cars with the purchaser, adjusting the vaiue of other
three cars against the amount due at 205 p.a. on diminishing

balance method.

Delhi motors after spending renovation expenses
of T 15.000 resold the three cars for T 2.20.000 on 31st
August, 2010.

Show the necessary ledger accounts in the books of Ram Lid.
[

U sfw, 2008 A T . T 3EA BEd @ 5 R T T g TE
o i e J oaE F7 E AR 1.00.006 T a7 1.00.000%
=] 0.000 =1 =7 FmH feoat & 12%

10 TiEdE THEE ° 9 AT

Ttz = A A A A1)
By & w9 @ @

T . T:,lc:_wﬂ,ﬁw&ﬁ qjuﬂg
aﬂnélﬁéuﬂﬁd&ﬂiﬂwwﬁ TE BIEY @l mEAd
IR %ﬂﬂﬁyigjnﬁﬂt%s_ mqoq?a

T e A F AT M 7 3T

uﬂﬂﬁmﬂﬂwﬁ 5.000 T =0 7% 3
25 a o 3] A, 201030 2 ucow I T TE T
£ ¥ gEsTs AR T g9 15

What is Hire-Purchase System 7 State 1ts characteristics.
Differentiate between Hire-Purchase System and Credit

Sale. 15
g TER A 7 eEEl MOTE = 9 #Aa ) O RA
Tl A A g § A wE AN 15

12001 ;

(5)
6.  Discuss the treatment of Goodwill at the ime of admission ui o
new partner with journal entries.
WU OAEEE % Ja9 T OES %
AT | {5
7. What do you mean by Reulization Account ? How and whe
ix it prepared ? How does 1t differ from Revaluation Account ?
15
TUE WA 2 5 g4 AN 2 7 9% FF w7 =4 97 A
27U TEEegws EE R ORR Sam % T 15
8. AandBare in parmership. sharing profits in the ratio of 5
respectively. Their Balance Sheet is as foliows
Balance Sheet
L Luabilities T Assets 3
Creditors 28000 [Cash atbank 7.8
Warkmen's Compensition 4000 | Debtors 40,000
i Less: Provision 800 AR.200
-~ CsLoan A 0000 Stock RIEE
Capitals: A 30,000 Investment 16000
m B 4000 Goodwil L
90000 |Plant 30000
132,000 FA200

C is admitted into partnership on the following terms :

(1) The new profit sharing ratio will be 4:3:2 between A, B
and C respectively.

(23 C’s Loan should be treated as his capital.

3y  Goodwill of the firm is valued at 3 27.000.

12001

PTO.
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{6)

h = m T 109 F oxm 27 By o§mo
(11 T8.000 of investment were to be taken overby Aand B 6, =i wﬂﬂ T S g fro o o
in their profit sharing ratio. Sl T QAT EAA ¥ TR ¥ e oA
(3y  Stock 1o be reduced by 104 T T 0000 T T fewe A
(61 Provision for doubtful debts should be @ 5% on debtors T % e e uRew FT e W oA 3 fud
and a provision for discount on Debtors @ 2 % should S 15
also be made. Y. Thefollowing is the Balance Sheet of P. Q.Rund Satthe dute
() Alstowithdraw 6,000 in cash. of dissolution ;
Give journal eniries 1o record the above and prepare Balance Sheet
balance sheet of the new firm. . Wm 1 hilites 7 | Al 7
o o & EEET ¥ S B el @ FAs 513 % A A e 2 Sundry Creditors 400000 | Sundry Assets 4.45.000
T Rl faae Fe o A R Cratstanding expenses 30000 | Profit & Loss Alc 240000
feefey e Caputals : P'sDrawings 33000
. 2 d P 1.00.000 R'sDrawings  30.000| 63,000
E— 28000 |F% & 77 7800 ) 50,000 3,60.000
. 2000 |3FER 406,000 R 1,30.000
ot gem wEaE 1800 38200 5 80,000
C' 3 R 30,000 | 7P 56000 | 8,00,000 5.00.000
5 A 30000 GEE 10,000 The firm 1s dissolved on this date to the insolvency of P and Q.
B 40000 e 10,000 The assets realised ¥ 3,98,000. Sundry creditors were settled
o000 | = 30000 at 2% discount and outstanding expenses were paid in full.
152,000 Expenses of realization amounted to ¥ 3,000. The position of
1,52,000 -

partners was as under :
. 3
& S e @ OHEET B e #I S

- : Private Estate Private Liabilities
. o T 3T HwEE 4:3:2 20 |
(1) © & 7= @ F A a i) . .
(2) A 3 B T T 25.000 20.000
(3) o B g 27,0008 FE o Q . 20.00
' ’ , - — Ty S 40,000 -
(4) 7 3w A RO00T F AR AT T T A A
o |

: 12001 PTO.
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Printed Pages : 2
BCE/M-16
MACRO ECONOMICS
Paper-BC-202

Time allowed : 3 hours] [Maximum marks - 80

Note : Attempt five questions in all. Question No, I is
compulsory. Candidate is required 1o atrempt four
questions from the remaining eight questions carrving
15 marks each. .

Ae T O g & T s gew @ 1 e &1 T 3
15 2% 3 o g5 § A4 FEfar @ oG omeg a2

1. Answer of each of the following short type questions should not
exceed one page.
Frefefiae & Uo § & OE 39 H I 0% 7% 9 A T e
ElUE

(a) What do you mean by real flow and monetary flow of
income ? 4

o % AfE T T araRE wEE 8 @R | e §

4

(b) Whatis the relationship between Marginal Propensity to
Consume and Multplier ?

T T AT TN g § R By B 7

= ~ B

(c) Describe the main objectives of Fiscal Policy.
TSN A & ge ®/edl # Ao H#T

(d) Explainthe main assumptions of Acceleration Principle.

12002 {Tumover

+ & b




-~ N

[N

121 Discuss cost push inflation. 4
A TR TR E R ET ) 4

[

. Whatis Macro-Economics ? Describe the importance of macro-
£CONOIMICS. Sl

TSI W S ¢ TOE YUNEN R e % @vEl FaT

2 Define Natonal income. Discuss the value Added Method of

measuring natonal incoeme, S

AEE S F T ANAU | TG W@ & T 5 9 Zhs
1 fEaT A RES

4. What do youmean by Consumption Function 7 Describe the
main determununts of conswnpon funcnen. RESHY

T R ORI A SN 80 s a5 s fenad
aus A S+10

5.  Whatis inflation ? Describe the main causes of inflation. 3+12
G EIR Sl | MR B Tl (2 B R e e (0 (B

3+12

6. What is meant by Monetary Policy ? Describe the main
instruments of monetary policy. 3+12

Afees AT § #ar s & 7 AiEs AT & ge e f oave
P | 3+12

7. Describe the main features of Keynesian Theory of Employment.
15

TP & $eoigd fera & g fdedst & aoF s 15

12002

1 Whatisa Business Cv

o
~
&

N
v
f‘a
A
F
o3
e
-
x
=
=
=1
=
£
]
e
o
)
L]
jan]
we)
o
o
z.
—
5
W
e

Lovcie

Lid
+

[
=]

A R A I e | EC E T A R ol et

T E AT .u.nTg.U
¥ T autdo you mean by Autonomous investment and Induced

neesiment ? Desenbe the factors which determine investment in

Al 2C0Nomy, 5+10

P - o - -~

apa TRy T MiE ferg @ oFmTe 9e] ST B 7 Uw puemeee

it

s E WU Gy gl B ERe g1 vl FRE 5+10

12002
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S

<o Exphan the featires of latest Export-Tmport Bodov e Lol
GG A L A B e | i i NS A I e B R 12

5. Critically evaluate globalisation of Indian Loonomy. 1=
AT AdeEEe] T A9 B IS TS F | i5

6. What is MNC ? Discuss the beneficial and harmiul eftects of
MNCs on Indian Economy. I5
TR I A B 7 A sfede WO agnSE B e

9 BAHIE JHE B g B | 15

7. Whatdo you mean by Monetary Policy ? Explain the limitations
of monetary policy. Also give suggestions for improvements in

the functioning of monetary policy. 15

A A & s w7 AbErg R P ARw Ry A Fmet & aom

F g AU AR IR F R oo gEmE At 15

8. Whatis IMF ? Explain its objectives and functions. 15
AT ET Y F R P ogad SRed g FE @ oo w15

9. Discuss the achievements and failures of economic planning in
India. 15

e W s FEee @ dweed our swamet & oaee #7 |

15

12003

Roll No. ...
Printed Pages : 2

Time allowed : 3 hours]

12003

BCE /M-16
BUSINESS ENVIRONMENT
Paper-B(C-203
[Maximum marks : 80

Note : Attempt five questions in all. Question No. I is

e

compulsory.
F 91 77 ) g97 7@y 1 st &

(a)  Whatdo you mean by Foreign Direct Investment ?
fesh o Py & o aar offew 3 7

(b) Explain SWOT as a technique of analysing business
environment.

TGS AT & G F ades 4 =9 § @ w5 av
F

(c) Explain causes of increase in fiscal deficit.
WA e F T34 S FRO ) AR HE

(d) Give mainfeatures of W.T.O.
e AT e % T R mmo§

(e) Give main features of Industrial Policy of 1991, 5xd=20
1991 @i <fenfm Ay # e Bowed awr 8 7 5xd=20

2. What do you mean by Business Environment ? Give its
characteristics and elaborate relationship of Business and
Environment. I5
TEENAE AT § AR R/ AfE 7 eud Bden a9 g
AFEE AT T B g R FT aned w7 | 15

3. ‘Mixed Economy is a golden path between capitalism and
socialism.” Explain, 15
TN S A e g § 9 ggEn a2y e
P | 15

12003 [Turm over




ROINO. oo, 112004
i

Printed Pages : 3
BCE /M-16
ORGANISATIONAL BEHAVIOUR
Paper-B{-204

Time allowed : 3 hours] [Maximur: marks @ &0

Note : Artempt five guestions in ail. Question No. I is
compulsory, which comprises short answer questicns
of 4 marks. Candidates are required to attempt four
questions from remaining eight questions carrving
15 marks each.

T FT g 5 w0 g7 & 1 ghart & Bt 4 5% (797)

goeg e 2115 FF (79%) awr 9 FE g 4 a8

TG H G 29 FA B

1. Short answer questions :

m_mb.._.@ﬁ qe7 .

(i} Write note on Human Relations and Organisational
Behaviour.
AMe el U YRR &P WA fod |

(i) Explain Major Determinants of Personality.
@i & g Fei @ ol H5t)

(i) Whatis “Halo Effect’™?
qHHUE G¥E 8 7

(iv) What do you understand by Analysis of Ego States 7

R AW q o7 R/ TR § 2
(v) Whatis Socialization ? 5%4=20
T R R 7 5%4=20
[12004] [Turn over




(2)

Define Organisational Behaviour and its Elements. Discuss the
role of Taylor in the development of Scientific Management
Approach. 15
AT el od e da F uwiRg #ifve ) Sete gae
stz & e A I @ i @ fEe e 15

L

Define Personality. Explain the vatious theories of personality,
15

TR 1 URNTT FifC | e $ v Rt & g #Sinm
15

Classical Conditioning Theory connects stimulus with response
while oprant conditioning connects response with stimulus.
Explain. 15
YOI ST R S A TYEY & Y s Eooeis
Hiskg e (HarT OogeT Bl FRe S a1 S 2 1 aof i |

15

What is stress management ? What are the symptoms of stress ?

Explain the technigues of Removing Stress. 3+448
T U T B ? qAd § W H oM PR 39 qure hid
H Tl B Ao BT 3+4+8
Explain the meaning and components of group dynamics. 15
T e F= 7 7 gEd o @ aoh s 15
Write a detailed note on Transactional Analysis. 15
HENHS [y g us BEgy ool faRgu 15

[12004

(3)

8. (a) Explainthe importance of perception in management.
(b) Symptoms of a weak organisational culture. 7+8
(F) wov § a9y % Hew F aU H
(@) ©F o0 GTeAE " B Aw | 7+8
9. Define organisational culture. Explain the roles of culture in an
organisation, 15
T FEG Bl G A | 0% e § Al @ gfmed
& AT 15
12004
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Printed Pages :7
BCE /M-16
BUSINESS ?nbﬂmmgﬁﬂmﬁm..u
Paper-B(-2¢5
Time alloweq - 3 hours] [Maxinum marks ;8¢

Note ; Attempt five questions in qjj Question n. lis

compulsory,

T T 9 757 @) ger g 1 sfarf &,

L @ Given the demand funetion P=20-3x, where pand x

commodity, find the consumer surplus when x - 5. 4
wﬂ_ﬂﬂ:ﬂﬁvnmo;? i TE P AW X - Bl

m&%ﬂmjﬂﬁw]@ﬁﬂﬁmﬂﬂ@ﬂ
T X =5, 4
(b)  Aman decides to deposit ¥ 5000 4t the end of each year
inabank, which Pays compound interest at the rate of
5% per annum. What will be his total accumulatiop at

theendof 15 years ? [Given (] 055 = 2.080]. 4

ﬁﬂmmgﬁmuﬁﬂﬂﬁwﬁoooﬂﬁw
ﬁ?ﬁﬁﬂw%%ﬂmﬁ&ﬂwmﬁﬂ%&
gw‘ﬁm%#_ﬁmﬁwﬂﬂaﬂﬂ%ﬁwﬁw

(¢)  Findthe local maximuym and local minimyr, values of the
function : 2x:_ I5x" - 36x +18 4
T2~ 15X - 36x 418 2 I S oy g
T T R e 4

12005 |



p)

i

{d)

(e}

{a)

(b}

(2
Find the dual of the following LPP:
Minimize 7 = x + 6y + 2z, subject 1o the consiraints

X+ 3y z 5, 2x -y+zz1.4x+y >1]and x.v.z20.

4
LPP & 29 &3 #1977 -

=R FIO 7= X+ Oy + 27 v = 3v =25

ux|w+xwfbx+ww:mﬁ.x,%.ww:. 4

Find the compound mterest on T R.000 tor 4 years at
10%: per anmuam. 4
e 109 7 47 % fAw T 8000 F TEE = A0
HiFAT | 4
Find the absolute maximum and absolute minimum
vatues of the function : f (x) = x! + 2% + 3 on the
interval [-3,2] T2
same [-3, 2] 9T % Fx)= +2x+3 F T
A manufacturer can sell petrol operated X 1tems at & price
of T(5- Am*o ) each. The cost price of pewrol operated
x jtemsis A|w| + 5003, Find the number of items he
chould sell to earn maximum profit. 72
g Ry GAw a@ied x A & TEE X0 000 F
mﬂﬂwmﬁﬁ:w_ﬂﬁmﬁmxiﬂmﬁmﬂ
~A|M5+moovw$§.ﬁmﬂ% S F F O Fd w9
o A e T %

3.

(b)

(3)
(a)  From 1
) the following transaction matrix, find the total tp
o . . output
mal demands of § and 64 units for ind
:. respectively R
. . 72
oducing Input 1o Industry Final
ik
Industry I I D
eman
I 16 20 4
Il
8 40 32
Frfafad ae-2w N
i - g@ﬁ%%ﬂﬂ&@d@%
: ELAEL ﬁ@niw@ﬂ@mﬂﬂ%&%” T4
ERICE *f T & R s Hferm
3 |
‘ I i i
I 16 20 4 |
II
8 40 32

pure competiti

petition for demand function p=—2__1 and
suppl 1 .
pply function, p = ] (X+3), where p is priceand x i
the quantity. N

Ia%:

ﬂqﬁ_ﬂ@an 8

P12 T A s p o= 4

2 (X + 3},

mwf. _—u HMmﬁ qar x BiE| Wy %\ %w_a mam w__aﬁ wm mw HTe
au_mm,ﬂ_ ES EERAGE il cet % EESE I mm WE |

m felte ] ie) | ‘Mﬂ\

2

=) c

81X m . .
onths for 5 years is to be calculated for ¥ 10,000

PTO.



(b)

{a)

12005

(4)
If the interest rate is 18% per annum compeunded half
yearly, how much is each payment ” V2
% 10,000 3 R o o # 5dE gHE ¥ o §
TR # wh Al B T R AR =T T 18%
s 78 3 s gART 3 A A, @ TRE g
i 7V

A colour television worth ¥ 10,000 is purchased on
instalment plan under which 10 equal instalments including
interest at 10% per annum are payable. Find the amount
of annual instalment. T2
Z 10,000 & 0F TR R Foed Ao ¥ m S
forerd ofid 10% T = wfed 39 10 g Rpsa wfafer
¥ e fps @ URT A S 7V

A person has set up a sinking fund in order to have
Z 1,00,000 after 10 years for his children’s college
education. How much amount should be set aside
bi-annually into an account paying 5% p.a. compounded
half yearly. T2
u @t & 10 a5 F ueEn g g=m F FE vE F
% 1.00,000 @ F7 $ fog ow M B = =T A

T

% %2200 3 sy

n@ﬂ%mﬂﬁ@am
@ﬂﬂﬁmﬁ&%ﬁﬂjﬂﬂgﬁw 714

3 voure i . :
years if the interest ig compounded continuously, 714
. 2
3 T5700 % 119

nﬂﬂﬂww&@ﬂg@w
P useEg Of o

ﬁﬁﬁﬂa%%gﬁﬂd%%_

7Y%

the principal and the rate percent.

) 7V
ﬁﬁﬁﬁwﬂﬁﬁmﬂwﬁgiﬂ

ﬁ
T =

y 5 .
o%%m&mwmmmm%ﬂﬂw;ﬂm

Eﬂu@maﬁﬂa&@ﬂ

72

¥ :
ind the compound nterest of T 2400 at the rate of 8%
(4

per annu i
m for two years if the interest is calculated

quarterly.

Ta
Nm&ooﬁ&m&&ﬂmmﬁ@%ﬂ&ﬁﬂ%%
ST

ﬁ@dﬁwﬂﬂﬂﬁéwﬁ@%&% V2

spend¥ 2 .
per km on petrol and jf herides it at a fagter speed of

12005 ‘
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(6) I

A0km/hr. the petrol cost increases 10 T 5 per km. He mas

. _ \ . (7)
Z 100 1o spend on petrol and wishes to find whatis the ma2CTLEE 9. Findthe dual and ther; g
distance he can travel within one hour. Express this as z linex method : Solve the dual probelm by Usine S
. 3 - - = - : HI—Q MHN C
?.omae.zaﬁmﬁoi@a and then solve it graphically. .3 Minimize 7= » £ 51mplex
- - . .- ST SN X
of w ga A S He-aEe 2 Frdt e T A ST SUbieT 16 the consira :
) - 2 e = raints
ﬂﬂ@ﬂﬂﬂmnﬂ%ﬂﬁﬁﬂaﬂwﬁ%% PEN S
n "t : : ) B X _‘/‘,.WN.WCx.Txvl
mﬁpo@mﬂhﬁﬂ%wﬁﬁﬁ%ﬁﬁmmu@ﬂﬂ PTXLE 0N+ 10X, = ] ang
: . . 2= hand x >0,
5 o %) o T A T wd w0 # X 1008 5 . TR0
et S B o e P e E A A S i . I3
. . B TH % T o
?%ﬁw@ﬂ%ﬂﬁwﬁwﬂﬁ%@ Fo = , THETETT Ew

8.  Solvethe following L.PP. by Simplex method :
Maximize Nnmx_+hxu, I >0
Subject to the constraints ;

2%, +3x, £ 48
X, + 3%, <42

x_+x4mw~

X ..xu.v.o 15

1

L.PP. & Ryuced frfey BT 2@ @l -
afFAs # o Z=2X + 4%,
g5 F ¢

2x, + 3x, €48

x_+uxumhw
x_+x~mw_

x_.x_wo 15

E E



(2)
4.  Txplaineffects of I'T on Business, 15
zgag W IT & g9&) &1 = v Fii 15
5. Whatis E-Commecrce ? Discuss its framework and architeeture.
15
Iy R R OZTAT T S T F Eeee FAT 15

6.  Whatis Electronic Pavment Svstem ? Discuss various methods

and how it works. 15
TG R A o5 2 At Rl T 2w 38 e
g, Ja why 15
7. Explain EDI, its components and benefits. 15
EDI, z9% gc&i a1 a1+ #1 «re Hing | 15

8.  Explain security concerns in E-Commerce with solutions. 15

A afed -aiveg # ogeen RS B s i 15

9. Wrtenoteon :
(a) E-Governance
(b) E-Commerce Models

{c} Mobile Commerce. 15
P ww ool fafag -

(F) g

(@) i-afrma sdfees

(1) HErEa amg | 15

12006 {Trans.

ROINO. .o 12006

Printed Pages : 2
BCE /M-16
ITAND E-COMMERCE
Paper-BC-206

Time allowed @ 3 hours]

[Maximum marks : 86

Note : Attempt any five questions. Question No. 1 is
compulsory.

e o @ g g B, ger @ 1 o &
1. (a) Define C2C model.
C2C wfem # whenfag Fifwu |
(b) Write note on TPS.
TPS 7 feudfi fifgm )
(c} Write 4 applications of Internet in Business.
FFHE { e & 4 o i)
(d) Define KPO,
KPO = uftsifier #ifem

(e) Differentiate Data and Information and name types of
Information. 4x5=20

gl a e A ¥ A gu ge S sl # oam
ERIEL 4x5=20

2. Explain concept of Information and computer based Information
System. 15

A A9 FGET ARG G OO 1 SO e i |
15
3. Explain MIS, its principles, working and components. I5

MIS, ea% fosrd, SRR o e 3 amar i 15

12006 §Trans. [Turmn over




(4)
(b) Discuss Animation and Sound effects.
afrie T @ty ouEl B e Hii |
9. Write note on :

(a) Macros in Excel

(b)  Table of contents and Indexing in Word.

(¢)  Validation and sorting of Data in Excel.
foeg WX femel fafe

() wwE A Ay

(q) & adem AR T S

(M) o A aied w1 AR @ A

[126014]

12

12

12

12

ROL NO. et 12014

Printed Pages : 4

BCE / M-16
COMPUTER APPLICATIONS
) Paper-BC-206
Business Data Processing and PC Software-1I

Time allowed : 3 hours| [Maximum marks : 60

Note : Attempt any five questions. Q. No. 1is compulsory.

e . @ g g F 97 g 1 A g1

1. (a)  Write way to open and save 2 file in word.

g3 F Tl wEe @ @Em a9 89 & @ qdw
ford 1

(b) Show method to Move and copy cells in Excel.
qedi 7 & B 9@ FO T I FE A AR a9
() Whatis Word-Art ? .
q8 o w7 3 7
(D) Write 4 Mathematical or Statistical functions in Excel.
weRrE § 4 TR s SitEEE we e
(e} What is Handout ?
Teamse w18 7
43 How to Run a Slide-show ? 2x6=12

wEE O R TR} g o 8 7 2x6=12

“]

12814 | —Trans. [P.T.C.




(2)

2. Use word to perform :

(a)
(b)
(c)
(d)
(e)
()

P & Prools w7 & frg o€ & awEm &t

(b)

Spelling checks

Use of Bold, Italics

Setting up space between lines
Use of Ali m:.BoEm

Left Right Margin Setup

Copy and Paste.

R 3% ]
e qun gferE W SwET
AFTHE TN ST
ai-aTd @ AT dT B
Fdr ST IR

Explain use of tables in MS-Word.

Ix6=12

2x6=12

uy T8 g€ F w4l & IwEnT @ e Fif
Discuss Insertion of Images and clip-art in Word. 12

32 § REl qu fem o @ afvRsw & fRRee

Fifora |

4. Explain Mail-Merge in detail.
TE-Te F fega e SR

12014

12

12
12

(3)

5. Using Excel perform :

(a)
(b)
(c)
(d)

Move and Copy
Entering Date and Labels
Use of Sum and Average functions.

Auto fill of Data values. 12

TFIE H AN B gU PR #ifw

(%)
(@)
()
()

6. (a)

- (b)

T e B

3T Gyl T & i

CLISLIRCES B e i

STer AT S e | 12
Explain use of IF statements in Excel.

oFd | IF F2H1 & 3947

Explain creation of Line-chart in Excel.

TEd H @R F (g B e $iei | 12

7. Explain creation and running a slide-show using various

backgrounds and slide-types. 12

e yezgfiEl qor &g TR # AT AR §U OF WEE
o & fier @91 === 9 e i 12

8. (a

[12014]

Explain use of speaker notes, handouts and outlines
in Powerpoint.

yEREg< g T GicH, dsdeed O HeeaRy B
UGN F AR FR |

[PT.O.
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(2)

What do you mean by claim ? Explain the process of claim in
relation to Marine Insurance Contract. 15
a1 § AT T AR R 7 A e ored § grad 3
ispT &1 avi it | 15

What is Motor Insurance 7 Is it compulsory ? Give various classes
ot risk covered under Motor Insurance. 13

GreY gied 79 4 2 7 9 U8 e B 7 Ored 9 & SR
gl A $ [T a # e i3

What is the importance of Health Insurance 7 Differenciate
between Group and Individual Health Insurance. 15

wTe d91 @ T TEE © ¢ AR 4 dRE @red ae ¥ o
T T | 15

Explain the various Insurance plans for the rural people in India.
15

wRg ¥ ey AT & fou G @ fafires d@emnatt @ oaofe &Y
15

What do you mean by Multiple-Line Insurance and All Line
insurance ? Differenciate between them. Explain. 15

sl o 9T o el ofee G @ e @ wEe R 9 g O
T g g & 7 aoie i | 15

Explain the various policies available for Micro Insurance. 15
afte gy 3y 3uded AR wwr @ Ol & avE s
13

What do you understand by Individual Health Insurance and

Grour: Health Insuranas 7 "What are the @riforent polizies of

¥ - 3 t

LASTanc. -

ROUNO. oo, 12015
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Time allowed : 3 hours]

BCE / M-16
SHORTHAND (ENGLISH) THEORY
Paper—OMSP-BC-205
[Maximum marks : 80

Note :  Attempt five questions in all. But Q. I is compulsory.

1.

[T B )

(a) Explainstenography and writing materials.
(b) Explain the consonants in brief.

(c) Explain upwards strokes in stenography.
{(d} Explain the dipthong.

(e) Explainthe grammalogues.

= B b

Explain the importance and writing techniques of stenography.

15
Explain the consonants in detail. 15
Explain the vowels in detail. 15
Explain diphones, their signs and applications. 15

Explain phraseography in detail. What are the qualities of a good
phraseogram 7 15

(a) Explain the punctuation signs in grammalogues and
logograms. 8

{b) How aphrase is written ? Explain the list of simple phrases.
7

Explain circles. Explain the size and direction rules with curved
and straight strokes. 15

Explain Loops and Hooks. Explain the rule for application with
straight and curved strokes. 15

12015




(20

Explain the wﬂoooac.a_ for taking life insurance policy. 15
fag dmr ol AT @ FRff @ @R SR 15
Differentiate the following :

@ WholeLife Policy and Endowment Policy.

(i) LifeInsurance and Annuity. 7+8=15

P o W B
() emeles S offel e aReEd! S OfE

(i) e S @ aiE 7+8=15

What are the essential qualities of an ideal insurance salesman ?
15

T . Jw Reaed @ omws T aRdM ¥ 5

Write short notes on the following :

(a) Nomination of Policy.

(b) Days of Grace.

(¢) After-sale serviceto Policy Holders. 3x5=13
Prefefed @ it ot Wi

() diRrR & AT

(@) ormmE oml)

(M ofed aet & R & 9| dant 3x5=15

What do you mean by Insurance Agent ? Explain his rights and

duties. 15

dr e § onuem g AR ¥ 7 gEe AN O e B

qui it | 15
12017

ROIINO. cocvveeeverienenee :Ncﬂq _

Printed Pages: 2

Time allowed : 3 hours]

BCE /M-16
LIFE INSURANCE-II
Paper—PPI-BC (VOC) 205
[Maximum marks : 80

Note : Question No. 1 is compulsory. Attempt four questions

from the remaining eight questions.

Hr: mTasrl sfard & 95 e oe 7 @ Fi3 9 987

1.

4.

Explain the following in brief:
=t e A WA A e F

i) wSuable Interest. =

& g B
(i) Life Insurance Contract.

e S ST |
(i) Assignmentof Life Insurance Policy.

S S il @ ER |
(iv) Surrender Value.

s g
() Group Life Insurance. 5%x4=20

—o T T : §x4=20
Desctibe the main types of Life Insurance Policies. 15
e S Ot & g Tl #@ qoI A 15
What are the frnportant life insurance policies issued by the Life
Insurance Corporation of India ? 15
ard FEw G frmogm Frite @ TegEe SiEe A
dffafeal @F-FA-81 & 7 15
What is an annuity ? Explain the various kinds of annuities. 1 5
e @ & 7 o @ R SRl # 9o S| 15

_dws_q_ ?&d%ﬁ




(2)

3. Whatdo youmean by claim ? Explain the process of claim in
relation to Marine Insurance Contract, 15
9 A U A A B 7 9 s | et 2 A
SfeRaT N U i | 15

4. Whatis Motor Insurance ? Is it compulsory ? Give various classes
of risk covered under Motor Insurance. 15

BT e S 2 7 R g oierd § 7 WX d % s
FER StEs & A ol g 15

5. What is the importance of Health Insurance ? Differenciate
between Group and Individual Health Insurance. 15

W S H 1 A © 7 AR 9 drieE @ & § e
T T | 15

6.  Explain the various Insurance plans for the rural people in India.
15
T | arfier & & fog dm & i deeelt @ av #Y

15

7. What do you mean by Multiple-Line Insurance and All Line
Insurance ? Differenciate between them. Explain. 15

sgeh di S o Wl di S @ o R w2 T 3 A
A =R ¥ P A i 15

8. Explain the various policies available for Micro Insurance. 13
afte 9m1 &g Iuwe AR ger # O @ o S
1

h

9. What do you understand by individual Health Insurance and

Group: Health Tusuranss 7 'What gre the diiferent nolinizs of

i tienith Insivangs, 7

ST AT & TTRIEAD

3
L
(ot

RollNo. .o, 12018

Printed Pages : 2

BCE /M-16
GENERAL INSURANCE~-L]
Paper—PPI-BC-206

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No. [ is
compulsory. Altempt four questions out of remaining
eight questions.

e g g ged & gov Ay g 9. 1 afErd g Ay
are geml ¥ @ *% g9 g

Compulsory Question (FF@Erd 1¥7)

1.  Explainthe following:
(  Rural Insurance 4
(i) Crop Insurance 4
(i) Hull Insurance 4
(iv) Accident Insurance 4
(v) Macro Insurance 4

4x5=20
frer it e S
@  #edier e 4
(i) wET o . 4
iy TR (dF-g) S 4
(iv) wmmﬂq T 4
(v) THe Eicif 4
4x5=20
2. Define Insurance and its features. What are the principles of
_ Gerneral Insurance ? I8
dmr 2t oftwre g Rdmmell # oitwfig P weEr AW B
By e Fa-ge 4 80 15

L12018| Tutuo.er



(2)
What do you mean by effective communication ? Explain its
importance. 15

Tl GER A MY T 99 € ¢ 369 Hewd & gvid i |
15

Explain the various methods of marketing communication. 15

v wu 7 e it @ oav i 15

“The only one and the basic objective of advertising in a company
is to increase its sales and profits.” Do you agree ? Describe the
various objectives of advertising. 15

“uep AT @) T RO o S femdt qar el | gh
HEAT T 2 1”7 #4179 Geha & ¢ s & R Sged & aven

iR | 15
What do you understand by Personal selling ? How personal
selling strategies are formulated ? 15
Yafaers fep @ oM 7 oHeR ® ? s feea & Al &
Frattor $& e oy & 7 15
Discuss the importance and limitations of Policies. 15
HREt ® me g del @ [RE #1X 15
What is meant by Integrated Marketing Communication (IMC) ?
Explain the importance of IMC. 15
wHiEa RTvE §ER @ = ot @ 7 o R dER 8 W
F A BT | 15

Roll No. ..o 12019

Printed Pages : 2

Time allowed : 3 hours]

BCE / M-16
MARKETING COMMUNICATION-1I
Paper-BC (VOC)-205

[Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

e :

compulsory. Attempt four questions from the remaining
eight questions. All questions carry equal marks.

BT g 797 F &1 g wew 1 Fhad &1 v e
g dt § & e 997 @k adft geit & o g &

Write short notes on the foliowing :

(a) System Approach of Marketing 4

(b) PublicRelation 4

(¢) Difficulties in evaluating Advertising Effectiveness 4

(d) TypesofPersonal Selling 4

(e) Essentials of a good strategy 4
Frfefys w it e i -

(®) RIF @ QTR e 4

@ 9 9% 4

(M RETe TERRET g § O e e 4

(@) s e & 9ER . 4

® w g -9 & omaws a3 4

2.  What do you mean by communication ? Explain the role of

communication in an organisation. 15

TOR @ o7 T wER ¥ 7 o Ged f 3@ 9 & Ao

T | 15

3.  Whatis meant by marketing ? Discuss the nature and scope of

marketing. 15

frovs @ @ar ofmma & 7 Rovw @ wgfy od &5 0 sme

H | 15

12019 [Turn over




(2)
Discuss the main factors that influence the transit advertising.

15
mﬂdgﬁﬂﬁm%ﬂwiﬁﬂmﬂ%_
What do you mean by headlines? Explain their functions and
essentials. 3,12
0 9 & s et 27 s e v angees a9
AT FR |
What is broadcast Advertising Copy? Discuss its main types.

3,12
AT ST 9 w4 27 g6d gen w4 R A

What do you mean by slogans? Explain main characteristics of
good slogans. Also give some examples of popular slogans. 3,12
TR S 7 I BT oD AR A e Rt @ Aot 8|
AR AR B BT TEEr A

Discuss the main considerations in preparing television
Advertising Copy. 15
ESUCEERERILE] 3&§Aiﬁﬁ§$im@i&
R % ST |

RolI No. oo, o, , 112020

Printed Pages : 2

Time allowed : 3 hours]

BCE/M-16

ADVERTISING-II
Paper-ASPSM BC-206

[Maximum marks . 8

Note :  Question no.l is compulsory consisting of five short

answer lype questions carrying 4 marks each. Attempt
any four questions from the remaining eight questions.

797 7. 1 Sffard & ot 4 it g wia geT e & s o
g9 & 7 FF v 99T Ffew

(i) What do youmean by Radioc Commercials?

e iR & e g9 s 27
(1)  Explain any three requisites of effective ad copy.

TR fORTT 9fy % Bl i omavas aw@t @1 avig @)
(i)  Explain Rational appeal in advertising.

fasre o fEmyt adie &1 aofy a3
(iv)  When direct mail is appropriate to use ?

E 3 FE I @ R g §7
(v)  Where is logo placed in ad copy?

femmg &t § @l & W wman s 27 4x4=20
What qualities should be possessed by good advertising copy? 15
et femmee uig § o @3 g ?

Explain various components of Print ad copy in detail. 15

e fomm oy & R et 3 Rards arem 53

What considerations influence advertising message? 15

fosas =9 & B9 4 GAr gmig 5@ 2



8. Gie a protorma of the Bulance-sheet of a Life Assuraree Roll Noo Torad Puges o %
Co. alongwith necessary ~chcdales, R
T T AT R F BCM/M-16 12021

CORPORATE ACCOUNTING - It

Paper @ BC-HH
9, Write short notes on the folloa:

=

) Need for Valuati ’f Wi . . .
() ced for Vahuation of Guoud Time : Three Hours| [Masimuwm Nwk- S0

"h

(by  Methods for Liguidation or Copipanies, (5+10=.
fa = A femfomt fafem .
(F) =l & [ FA F AT All questions carry equal muarks.
(|) FOT F A = Tt qAe ;. FA G WA F 5 A T A a2 e

Note : Attempt five questions in all. Quostion No. T ¢

1. Compulsory Question ( 3fard 9T )

(1) What are Super Profits 7 How can thiowe e
calculated ? s
AT FWOFW E? TIHR! UM FW R W 4wl
27

(b) Explain the factors atfecting the valuation ol ~haes <6
HqM F GoAFS F I FH AT =0
EX{

{ct  Define Minority interest. g
sy g w9 it

(d) What do vou mean by Non-Performing Awsoee !
Expiam. =
srfrorEATa
EAEE]

12021/25,100/KD/357 8 12021/25,100/KD/357 [PTC

3
|
i




(¢)  Grve Journal entries for the followine
fefafed & fom = afafeat fafa .
(1 Bonus in reduction of premium. (2

M % weR A A

1y Claims covered under Retnsurance. (2)

TEm F s TE)

2. The following informations are given

(a) >,<ﬁ.:md capital emploved — Rs. 1.50.000
aed fafenfsa 95 - 150000 =

(b} Normal rate of profit — 10
LI A N 1 B R 1

(¢) Present vatue of annuity of or 5

H y of Re. | for 5 vears . 2
e e or 5 vears at 0%
0% 9 %1 W ¥ 5 9 F fou uw ovwm oay
| TMFET F1 FAEH g1 - 379 %,

(dh  Net profits for § years Rs. 14.400. Rs. 15 400
Rs. 16.900. Rs. 17.900 and Rs. 17.400.
The protits included non-recurring profits on an average
el &) . -y ~ =
basis of Rs. 1.000 out of which it was deemed that
even non-recurring profits had a tendency of appearing
at the rate of Rs. 600 p.a. .
T T F YF WG 14,400 F., 15400 .. 16,900 .,
17,900 % 3R 17400 %. &

T H ST FY A 1000 T, % SEdE o1 afgh
%ﬁdﬁ%ﬁﬁﬂ@ﬁi@%ﬁ.n@ﬂ
oMY SFAF wga T E

12021/25,100/KD/357 2

You are required to caleulate goodwill

(1} As per Annuity method:

(i) As per Five years purchase of super profits: and
ity As per Capitalisation of super profits.

Fffad fabm § e = g

(y =tdaRt At

Gy W A owa F sE st faf
ity At fafsn

3. The following particulars are availuble i relation to
lndia Ld .
g fofges & a0 o
(y - Capital 450 6% perference shares oft Rs. 100 cach

fully paid and 4300, cquity shares of Rs. 10 each

faras €

tully pad.
T ;450 66 TATIER T 100 % F TE RS,
4500 10%. F TE YUEH HEA

(iny  External Liabilities Rs. 7500
T =i - 7500 %

(iii) Reserve and Surphus Rso 3500

H59 - 3500 F.

(iv) The average normal profit tafter tax) but before
wransfer to General Reserve e 107 carned every
vear hy the company is Rs, RIVAN
Srr WEM F TWE WA oo W W A FWEE FAA

F W T4 AEA A1 8805 F

~ e

pe

12021/25,100/KD/357 3 [PTO.



iv+ The normal profit carned on the market value of
cyuity shares. fully paid. of the same type of companies
i~
T TFER F A FWEA A A Y FEH F
™ 94 R
Culculate the fair value of shares assuming that out of the
ttal assests worth Rs. 350 are fictitious. (15
7z oA 75U fER w5 ™ 0 | 350 ® F ARAEA F
Tt €, sl % 3= gem # o #ifeu)

4. Write notes on the following
ta)  Cost of Control.
thy Capnul Reserve.
(¢t Pre-acquisition Profits. (5x3=15)
(%) M w7 )
(73) TETE HEE
() FI-qE F 14|
S0 Aduarsh Manufucturing Co. Ltd. went into voluntary
liquidation on Ist Fanuary 1988, The liquidator is 1o be paid
rennmeration at 3% on the amount realised on sale of assets
and 2% on the amount distributed to sharesholders. The
Hguidator sold out all the assets of the company. Company's
position was as under
Rs,
Cash received on sale of assets - 7.00.0060
Ligquidision expenses - 12.600
Creduors (Including salaries for
cne month Ry, 8400) - 95.200
12021/25.100/KD/357 4

7000, &4 Preterenee shares of R 30 each

(On which Jdovidend o purd upto 31/12/860 - 210,000
1000 eguny ~Rows of Rao 10 each.

Rs. 9 per <haie called and paid - 1.26.000
General Resenve -  1.68.000
Profit and Lo A ¢ - 28.000

Under Aviicles of Association of the Co. the Preference
sharcholders huve a right o receive 1/3 of the surplus.
remainmy atter repaving the Equity share capital.

Prepare Eamdator's final statement ot account.

HEY T=TET o e w1 wHfsms mE 1 F9EA
1oss ¥ wwy 7 fears w1 wwi % w9 W
T F . F A 7 vt w8 faEte atw w20 #
FE7 Mirafaw fm oS # feRE A T FuthE am
@ Fe F1 frafs e -

¥,

worfe e o owrsw e T - 700,000
= =9 - 12,600
TR (TF WIE F 9499 Jied 8400 F) - 95,200

S00G. 60 TEIREFT PR 20 % 9f3 sm
(fFm T 21126 T =19y f2a1 T o)
14000 IO A5 0 F, FTF T Y T

b

2.10,000

paid up - 126,000
T =T - 1.68.000
=M-21 = - 25,000

AYIAT FT AR 3 F ITA A9 F AT H F 103 T
qME FTE w AER T
: F1 A frufy foamm = ==

12021/25.100/KD/357 5 [PT.O.



6.

12021/25,100/KD/357 6

The following is the extract of the Trial balance of a bank 7.
on 31st March 2003 ;
Rs. Rs.
Bills discounted 51.50.000
Rebate on Bills discounted - 30,501
on 1/04/2002
Discount received - 143300

The bank had the following unmatured bills

Data of Bill Amount (Rs.)) Term Rate of Discount
13/01/2003 7.50.000 4 months P24
17/02/2003 6.00.000 3 months [o,
6/03/2003 3.00.000 + months 1%
16/003/2003 200,000 2 months 1067

Find the amount of discount received to be credited 10
P/L Afc and pass appropriate Journal entries tor the same.
314032003 F1 ®AME BH A A4 w few ww ¥ F
Te F A wwm %

+F 7+
F24r 9y fa= $1.50.000 ~
17042002 1 fa= 77
T FAm1 - 30.501
TS FEw - 145,500

Data of Bill  Amount (Rs.) Term Rite of Discount
13/01/2003 7.50.000 4 maonths 124
17/02/2003  6.00.000 3 munths Je)2
6/03/2003 4.00.000 4 months [
16/03/2003 2.00.000 2 months 10

Ta-2f wE g wize 3 Oy w24 #ooE F e
w IHF fom smavrs wfaftesi =witag

12021/25,100/KD/357 7

The Pronit and Loss Account of a Fire Insurance Co. shows
the profit of Rs. 3.00.000 for the year ending 31/3/2004
betore twhing inio account the following items :

Rs.

i Claims inttmated but not admitted - 55,000
aiv Clams outstanding for 1) years

new written off - 30,000
i Re-imurance recoveries —-  23.000
S Quistanding premium - 80,000
++ Benus utthsed in Reduction

o1 Prenuum - 10.000
o Interest acerrued on Securities - 5.000
Sl Agents” commission o be paid - 7.500

and show
the above
sdjustments. (15)
TA2061 FTETA T A 99 F fou wF o3 S Fe

F - oEE OF VY 300000 T o1 UGG 3@ VI E
frg== 7 7 guEeTe FH 9 w® W R .

Pis~ Journal entries for the above omisstons
the net prefit of the company after making

Fo

(1 T3 g F orEa T8 - 55,000
giy == =9 3@ 7 =9 @

3@ T fFu oTa - 30,000

(i) TASTE wiEat - 23,000

(jv) oEs Wfaes - 80,000

(v) WigFw w2M &g 9y - 10,000

(viy TafFmn o sgma == - 5,000

(vii) 39 WIZ FEEH - 7,500

T F I FWA F A FI O FHiTA0
PTO.
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BCM/M-16 12022

BUSINESS ENVIRONMENT IN HARYANA

Paper : BC-402

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. | comprising

of five short answer type questions carrying four (4) marks

each is compulsory. Attempt any four questions from the

remaining eight questions. All guestions except Q. No. 1

one carry 15 marks each.

A wmE ot T B IW A T wem | osfed @
fod ofg @Y ST WA 4-4 SR & ¥ VW B WA
¥ @ frel ww W w1 wEA Sieu wed §e 1w
Brew |l TR 15 WF ® T

1. Compulsory Question AE._m_m_._.n. )

(a)

(b)

(<)

Differentiate between Economic Growth and Economic
Development. 4

afirs wafg 3R i fawm ® R wd@El
Write short note on state of literacy in Haryana. 4

e § wWeww @ fufy w feomh feEl

Discuss the importance of agriculture in Haryana
Economy. 4

i F seferaten H U ® WEW 1 a0 Wi

12022/22,000/KD/358 [PTO.



[

(d) Explain the main features of Haryana Financial

Corporation. 4
A faa frm = qen favivasi w1 ave owy
(e}  Write a short note on Haryana Planning Board. 4

gfemon As W1 T ot fore

What do you mean by Government Budget ? Discuss the

key features of Haryana Budget, 2014-15. 15
HEN A2 W AT F AR 87 2 w9, 2014-15
F1 g7 favreaet w1 oo 1)

What are the reasons behind the slow growth of agriculture

in Haryana ? What measures would you suggest for its

i

improvement ? !
g o e % oW fawm oy
faw s 7 gae 27

0| THH gUR &

Explain the importance of Small scale industries in
Haryana Economy. What steps have been taken by the

government for their development ? 15
EAN FT AdSrAE W oo el B wEew w1 s
Fm =% fowm % o w@ R 3 #FE-%0 3 5
33 &7

12022/22 000 RD/358 2

5. What do you mean by Special Economic Zones ?
Give arguments in favour of and against Special
Economic Zones, 15
forer aaférr el & amoeEn 0 wtfirary %7 e anfies A
F 99 UH fouw H e 7 2

6.  Write a detailed note on Haryana Financial Corporation. 15
oA a3 fvm w famga fromd forg)

7. Write a detailed note on HAFED. 15
‘TFE W famgm feomh ferd

8. What are the major achievements and failures of Economic
Planning in Haryana ?

g § Afdw e Ft qen svafert qu srwed
w1 %7

9. What do you mean by the term "Business Environment™"?
Explain the various components of Business Enviroment. 15
'HEAAE AT WA N TEIE &7 sqEEirs
FAE F fafa= g2 # ogei w5y

1202222 C00KD/358 3



(b) What difference will it make if the Current price of Roll No. ..ooveiiiiine Total Pages : 4
T 100 share is T 200 ?

M T 100 F 379 F I T T 200 B A T =0 BCM/M-16 12023

FF T2 FINANCIAL MANAGEMENT

(c) Determine the effect of income tax on cost of capital Paper : BC-403

under (a) and (b) if tax rate is 30%,
(30 R (I) I ferfrd A goh AR W T guE

=M AR AEAFT F W 30% T, TOFT FW Note : Question No. 1, comprising of five short answer types
2 ) P yp
questions carrying four (4) marks each is compulsory.

Attempt four questions from the remaining eight questions

L carrying 15 marks each.

computed ? Explain giving an example. 15 . . . - .
T : v wem |, fed 4 oiF e utw @y I e F

e SR 9 (EOQ) F wftyrw fvra) ot o frg S ¥ @ (5

TFN H IR ¥ 2 TF IR 3 ZW W F 15 3fF *1) Fwmw

Time : Three Hours] [Maximum Marks : 80

9. Define the term Economic Order Quantity. How is it

1. Compulsory Question ( 1F@ard wgw)

Write notes on following :

= gfara feoforgi fafam .

(iy Time Value of Money. 4
I T HHE

(i) Optimum Capital Structure. 4
FIHE S 3

(iii) Financial Forecasting. 4
fadta gaigar

(iv) Operating Cycle. 4
GEGE G

{(v) Cost of Debt. 4
O FH ANMI

12023/25,700/<D/359 4 12023/25,700/KD/359 [PTO.



What is mcant by Finance function 7 Discuss its
objectives. 15

faa =m =1 70 ok 7 0 @ wvd F faEe Fh

What is Over-Capitalisation ? Explain its causes and
etfects. [

HAA-GHFT F0 7 3HH FWO T WS FT AU FI

Discuss the M.M. Approach to Capital structure. 15
st 32 % . fog= # fEem Fifm

A

Explain the Walter's model of Dividend. |
AR H AT HEA F A Fwim)

Explain the factors affecting the Working capital requirement
of a business. 15
UF NN % fAu FwEvia gt # sravama w1 gt
T A FE F AW HHA

A choice is to be made between two competing proposals
which require an equal investment of ¥ 50,000 and are

expecled to generate net cash flows as under : 15
T 50,000 & wuE fafmEm o @ gl v § @
TF F1 99 F 8, T GN SR [E TH W9 @
TR 2 :

12023/25,700/KD/359 2

Year Project | (%) Project 2 (%)
I 25.000 [0,000
2 15,000 12,000
3 10.000 18,000
4 NIL 25,000
5 12,000 8,000
6 6,000 4,000

The cost of capital is 10%.
Which Project should by chosen under (a) Payback period,
and (b} NPV method ?

ISt F1 T 109 2
(&) smEmd faf (Payback) 3R (@) W5 wdEM T fafy
(NPV) % 3THR FH-91 T&E 1 91iz0?

The tollowing information has been taken from the Balance-
sheet of A Ltd. as on 31.12.2012 : 15

31.12.2012 1 A Ld. H S89-92 (Balance-sheet)

4
Equity Share Capital 6,00,000
10% Debentures 6,00,000
15% Term Loan 18,00.000
Totat 3(,00,000

(a) Determine the Weighted average cost of capital of the
company. It has been paying dividend at a constant rate
of 20% per annum.,

FO w1 9 3|9 gt wrE # T w1 9w 20%
F WAA WY A F A o PO w1 @B

12023/25,700/KD/359 3 [PT.O.
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BCM/M-16 12024
COMPANY LAW-I
Paper : BC-404
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

AT : HA UiT WA BTG wuw g afEe R

1. Compulsory Question ( 3F@™d wyv)
Write short notes on the following :
frafafen w dfea feuforl fafag -
(a) Define Limited Liability".
‘difrs afrm’ w1 oftafie wifaw
{b) Define ‘One man company’.
‘TF At Al weR W R e

(c) For which company Registration of Articles is not

necessary ?
e Tt % fau sifiaal =1 9= s
sEvaE TR
(d) What is Watered Capital ?
T ¥ft w2
(¢) What is Share Warrant ?
39 otfergs @ g €2 (5x4=20)

12024/23,500/KD/360 [PT.O.



e

Define Private Company. What privileges and exemptions

or concessions are enjoyed by it under the Companies

Act ? 15
fasit wot wt ufegmn ifo et = w e
afufrrg & ofFis $H-3R @ favm gfhud qun 92 W=
B € 2

Who is a Promoter ? What are his functicns 7 What
are his rights and obligations ? How is a promoter

remunerated ? 15

yFdE FE B 2 7 IUS N FE E ? ITS T SR
s Tfae § 7 wedw w1 i $9 fm W ® 2

Explain the 'Doctrine of Ultra-vires', and state effects of

ultra-vires transactions. 15
Cafaerm #oaEmt w=E % fagra w1 surem wifsw e
wivmT ¥ T =EEll 1 U9E FaEy|

What do vou mean by Mis-statement i Prospectus ?
What remedies are available to the aggrieved party for
untrue (mis-statement) in Prospectus ? 15
sfseror | faen =@vid @ oy 94 weqd B 7 wiwerw H
e oA (foem ao) ¥R W difgs 99FR 1 = IR

ya g 7

12024/23,500/KD/360 2

6.

What are Redeemable Preference Shares 7 Describe the
provisions of Companies Act in respect of the issue and

redemption of Redeemable preference shares. 15
farramsfier gaifusr ofn =0 2R ¥ 2 fauemeie qEifuer
Aol & frime qm wivw & wey A A sfufem 5
el ® G SIfT)

What is meant by Alteration of Share Capital 7 What are
the various ways of altering the share capital of a company ?
What are the legal provisions of alteration of share
capital ? 15

gt  uftad @1 @ ol 82w et W osjerdsh A
T @ FR-ER @ e § s § s #
Aty seeent @0 ¥ 2

Define Share Warrant, and state its contents. What are the
provisions of Articles relating to Share warrant ? 15

Fo afiam = oftafeg wifSu qen sosr fawg-Tmm
TATW AW IR & FEy o oAafEm | o wEyE ® 7

Discuss the method of issuing Debentures. What are the
remedies available to Debenture holders ? 15

wu-uA & frmm w5 5ty = fag=m =0 - ures
! W IUSH F E 7

12024/23,500/KD/360 3
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Time :

BCM/M-16 12026

COMMERCE
(Fundamentals of Insurance)
Paper : BC-406
Opt. (1)

Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt any four questions
out of the remaining eight questions.

AT : g e | wfEd 21 9w one vl ¥ ¥ w9 e
FIfST)

1.

Compulsory Question { 3ifamt ww)
Explain the following :
frm =t =rem wifsm .

(0

(i)

(iit)

(iv)

(v)

Any four principles of Insurance.

g w W wR fag
Classification of Motor vehicles.

WeX a9l F1 T

Constructive total loss.

TARAE FE EA|

Letter of Subrogation and Bill of Entry.
yfeeenrys w3 dwr wEw fae

Double Insurance under Accident and Motor Insurance
Act, 1988.

I W He d aAfuftan, 1988 ® o= SR
Eieif (5x4=20)

12026/15,300/KD/345 [PTO.



What do you mean by Insurance ? State the importance of
Insurance. (5+10=15)

‘S @ Y ¥ gEEd § 7 99 & Hew SaRu)

Who are the parties of Life Insurance Contracts ? Explain
their rights and duties. 15

ST Y ® UNER B BN € 2 3T AfvEH v
Fas F gUE Bl

Write a detailed note on Claim settlement under Life

Insurance. 15

Sitea S F SR TE % YEE # 9ERS W fawga e
fe|

What do you mean by Fire Insurance ? Explain the various
principles of insurance in detail. (4+11=15)

afq <m 9 e T sifawra ? 2 S % fafe fage
1 famr 4 wviF w1

What is Indemnity in Marine Insurance ? Explain the
provisions related to measure of Indemnity. (5+10=15)

ot A A afrfd w0 20 ofieff & orweve ¥ gt
WEYH F1 T FE

12026/15,300/KD/345 2

7. What do you mean by Marine Insurance ? State the

types of Marine insurance policies and their conditions.

(3+6+6=15)
T AW W I F owHew € 7 W sfm wiefe @
TFR a1 3THR! M A @

8. Write a detailed note on Package Policy. Also provide the
policy conditions. 15
e dfent W foegm e o o w sl w o
0 FK|

9. Write a detailed note on Corporate agents. 15
ffia =i ® & fawm e o=

12026/15,300/KD/345 3
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9. (i) What Short keys are used for Cut, Copy and Paste in
Page-Maker ? 3
e, FG qo TR F fau Page-Maker ¥ $R-dt
v wf TWEe w0 oWt #2
(i) What is Master Page 7 Why is it used ? Write its
role in detail. How does it differ from a ordinary
page? 9
AR YW w R T swEm W e W @2
o1 9w fawR @ fafgw 98 & 9 O |
fr T wEm 22

12038/2,000/KD/350 4

Roll No. . Total Pages : 4

BCM/M-16 12038

COMPUTER APPLICATION
(Desktop Publishing)
Paper : BC-405
Opt. (ii)

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Select any four questions
from Section-B while Question No. 1 (Section-A) is
compulsory.

AT ;. F O T B IW D0 9m-3 F fFE e g w6
w74 Fifa W&fF 79 6 1 (9m-31) afrEd 7

SECTION-A (¥9TT-31)
Compulsory Question Amuw_ﬂ_.% )

1. (i) How to delete a particular cell in the given table ?

w d T Ew ¥ ouw fafve g W we fefae
FQ T 7

(i) How to use Bullets and Numbers in Open-Office.
A-afrm ¥ o 9w dal w1 oIHEm S9 R
W ® 2

(iii)) What is the difference between Save and Save as ?
Y9 9 U9 W W WY o FW ¥

(iv) What are the different types of Alignment ? Give
their names.

weeTde % faft=m ver w-Fm €2 s AW
FEATEUY

12038/2,000/KD/350/Trans. [PT.O.



(v) How to insert a table with 4 rows and 5 columns in
MS-Word ?

MS-Word % 4 <fmal qen 5 #teml ol @ 399

T w2
(vi) What is Desktop ? How does it differ from Laptop ?
Twhn =} 2 A dwem ¥ frm wme i 0
(6x2=12)

SECTION-B ( ¥ 1-w)
What is DTP ? What are the Hardware and Software
requirements for DTP ? Explain them in detail. 12

AW (DTP) =1 2?7 HAR B fouw 7 TS 5
WA STawrRad € 2 ST famRr @ @

What do you understand by Text formatting and Word
formaiting ? How these differ from each other ? Explain all
features for Text Formatting and Word Formatting. 12

wmﬁﬁﬁ@:mﬁﬁﬂm@a@gﬂﬁﬁﬂwww@
TH-TH 4 forw @ fo= & 7 do wiifen aar o widn
# ot wrEd # wvem

Differentiate between MS-Word and Open-Office. What are
the advantages and limitations of Page-Maker over MS-Word?
Explain them. 12

MS-Word 1 Open-Office ¥ 3 &a=®T MS-Word &
TN H Page-Maker % &1 W2 @l €iwnd ¥ ? wyead
BEEIEY

12038/2,000/KD/350 2

(i) How to insert text and graphics in Page-Maker 7 6
Page-Maker ¥ 392 wun Wiraw =1 o9 T2
W &2

(ii) What options are available in Edit Menu in the Page-
Maker ? Explain them in brief. 6

Page-Maker % ez o1 & Fn-s sfrm Iuesy
¥ 2 < ddv § woemy

What are the different Template modes of Page icons in
Page-Maker ? Explain each of them in brief. 12

Page-Maker o 9w sEwA & fafys wﬁﬂm oIS Fq1-5741
wuuﬂﬂﬁﬁﬂmﬂmﬂﬂﬁe

What is Style Pallette ? Explain Style Pallette in detail with
example. 12

=AY 71§ 2 wrEa Yo W frem ¥ e ot
T

(i) How to prepare Visiting Card in Page-Maker ? Explain
it with example. 6
Page-Maker ¥ fafsfen =€ 29 = s
SR g {AHRT!

(i} Prepare a Calendar of the year 2015 in Page-Maker.
Write ail the steps for it. 6

Page-Maker ® a9 2015 # T Sevex R Fifm)
Sus fau wsit <ol = frfam

12038/2,000/KD/350 3 [PTO.



(iv) Name of employee(s) who earn maximum salary in

their organization. (4x3=12)
FHARA % TH A TR G F Afwan S99 ww
® R

9. Discuss the applications of Oracle in business. 12

MR § Oracle # 399 T T4

12039/2,100/KD/368 4

Roll No. .., Total Pages : 4

BCM/M-16 12039

FUNDAMENTALS OF DATABASE SYSTEM-II
Paper : BC-406

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is compulsory.

M : FA U W B W A W G, 1 st 2

1.  Compulsory Question ( 3tfFard wyw)
(a) Define Database link.
ST fdw w1 wfafim w5
(b) What is Candidate Key 7 Give example.

Candidate Key 1 27 Igao 2
(¢} Which SQL procedure is supported by Oracle ?

FA-5 SQL WiFA Oracle g1 wAfefg &)
(d) What is Cursor ?

FER o B2
(e) Define Check constraint.

3% T & tfnfed wfE
(f) Define Domain. (6x2=12)
THT F gftwfye i)

12039/2,100/KD/368 [PTO.



(a) Define Table and View. How are they created using
SQL ?
Table T View 1 TRWifyd &l SQL F ITM
T I Y A I F 2
(b) What are Triggers and when they are executed ?
(2x6=12)
foe wn ¥ R ¥ wa feEataq em € 2

Describe with examples four basic relational operations that
can be performed on a relational database. 12

Relational S2EH & W FHESHH WR YES@ AHEH =l
STl |fgq quE

What is Join ? Explain its types with suitable examples. 12
Join ¥ ¥ ? A0 Hieq witw F

(a) What are the responsibilities of Database Administrator?
ey wors &1 Fn fwafar ¥ 7

(b) Why Stored procedures are called Executable codes ?

(2x6=12)

Huei wrfafa F e 9 Fie F w2 2

(a) Describe the architecture of Oracle.
Oracle & fFdFR =+ TR =+

(b) Explain different types of failures that occur in Oracle
database. (2x6=12)

Oracle 2289 ¥ faf= wor =+ fawamet w1 o
=

12039/2,100/KD/368 2

7.

8.

Write short notes on the following :
fm w dfym A= o .

(a) Data types in Oracle.

(b) Break clause.
(¢) Oracle Instance.

(d) Triggers. (4x3=12)

Consider the following table :
e afds w faem w1
EMP (emp_no, name, salary, supervisor_no, sex_code,
dept_code)
DEPT (dept_cd, dept_name)
Write down queries in SQL for getting following
information :

fre WAER W wW % e SQL w=iw fad
(i) Employees getting more salary than their supervisor.

FHTA W A gReRW ¥ st ofuw I @
® #
(ii) Department name and total number of employees in

each department who earn more than average salary
for their department.

favm =1 AW it fawm o wUwfal ) oge d@em

S 37 faym § ofwa A9 @ w=m ww w® ¥
(iii) Department(s) having maximum employees earning

more than Rs. 25000.

Fo 25000 ¥ Ifuw FUE T TS FHAE H

fasmm

12039/2,100/KD/368 3 [PTO.
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BCM/M-16 12040

OFFICE MANAGEMENT AND SECRETARIAL PRACTICE
[Office Practice and Communication (Part-A) Theory]

Time : Three Hours]

Paper : BC(VOC)-405

[Maximum Marks : 60

Note : Question No. 1 is compulsory. Attempt four questions
more from remaining eight questions. All questions carry
equal marks,

A

1.

I e 1 afrEd B Y e W 3 ¥ S R W

A wfom v W @ ofw wEm ¥

Compulsory Question ( 3tfard wyw)
Short answer questions.

Y ITE q

@

(ii)

(ii1)

(iv)

(v)

(vi)

Centralisation of Mail.

T H DGR

Letter Opener.

T F Een awe

Folding of Letters.

i H HE

Courier Service.

FfER dar

Define Drafting of Letters.

T F AR W H o w5
Office Order. (6x2=12)
FHled SR

12040/200/KD/369 [PTO.



Describe the meaning and importance of Mail. 12

TF ¥ I 9 W = fafaw sifwm

State the procedure of sorting mail on table and in racks in
Mail room. 12

EH H T H TEH F TG W T T H Bled FOED
w1 faa=m =it

What is the importance of time and date stamps and
addressing machine in Mail services ? Explain. 12

g 9 9@ W© TS T fAEs F w1 o qaned
¥ 5 qE 27 =rem Fiew)

Explain the procedure of marking and distributing the inward
mail in Post-office. 12

e ffFq ¥ IR ael o1 H offfa @ faom = A
i wt =E St

What is Peon book ? Explain its advantages in the services
of Mail. 12

I gfEs ;R T da § e ol W oswen
EaiE Ll

What is Office correspondence ? Explain how centralisation
of correspondence is better than its decentralisation. 12

FeE TIER ¥ §7 GRERT TR TER w1 SEEe
o8 fae=tas 9 fFg yoR o= 2

12040/200/KD/369 2

Draw the form or structure of Business letter, and discuss
various rules related with its different parts. 12

HE U3 B FR@ TET d9 3§ G 9 |
Tfyg o wt faag sifew

What is Interview letter ? Give a specimen of Interview
letter. 12

TEFR T F €2 THH U TN S

12040/200/KD/369 3



5. What is Doubling Principle ? How is it useful in shorthand ?
Give examples in support of your answer.

6. Explain the use of Suffixes in shorthand with examples,

7. Draw the following contractions used in shorthand :

(i) Danger {ii)  Subject
(iti) Destrictive (iv) Publisher
(v) Discharge (vi) Republic
(vii) Difficult (viii) Inform

(ix) Electricity (x}) Organiser
(x1) Regular (xi1)) Enthusiasm.

8. Write short notes on the following :
(i) Upward & Downward 'Sh'.
(i) Conditions of Upward 'R
(iii) Two Prefixes with examples,

9. (a) Draw the outline of the following :
400, 3000, 4,00,000, 3,000,000.
(b} Make following Grammalogues :
(i) At first
(i)  Important
(iii)  According
(iv) By all means.

(¢) Examples of use of 'Downward R’ and '‘Downward L',

12041/200/KD/370 2

Roll No. ..o Total Pages : 2

BCM/M-16 12041

SHORTHAND ENGLISH
Part—A (Theory)
Paper : BC-406

Time : Three Hours] [Maximum Marks : 60

Note : Question No. 1 is compulsory and attempt any four
questions out of the remaining 8 questions. All guestions

carry equal marks.

1. Compulsory Question
Write short notes on the following :
(i) Rule for 'Dot H'
(i) Draw the outline of 'Earth’ and 'Far'.
(iti) Rule for 'Medial L'
(iv) Use Halving principle in Timid' and Rifts'.
(v) Two examples of 'Prefixes'.
(vi) Two examples where Doubling principle is not
employed.

2.  What do you mean by Compound Consonants ? Explain the
different Compound Consonants with suitable examples.

3. How Halving principle is used in Phraseography ?

4. Explain all the options of writing 'H' in shorthand with
suitable examples.

12041/200/KD/370 [PTO.



g w ooy e fod
(F) of9q offerft ot sfus v

(@) sredtpfa =)

(M) "ARE THET F A

(F) F=T 94
12042/450/KD/1434 4

ROl NO. o Total Pages : 4

BCM/M-16 12042

MARINE INSURANCE
(PPI Paper : BC-405)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory

and each part of it carries 4 marks. Select the remaining

four question from Q. No. 2 to 9, all there questions carry

15 marks each.

FF W Y ® IW F T wew | afEd ¥ ek
TAF 9T 4 IF WL GEH B AW W YA T 2
¥ o H H wfee, ¥ ot WA 15-15 I B B

1. Compulsory Question ( 37ard Wev)

Explain the following terms in reference to Marine Insurance

in one 1 page length each :

(a) Sling Loss.

{(b) Label Clause.

(c) Implied warranties.

(d) Average loss and General average loss.

(e) Salvage loss.

v & B A % AR W T B T @
fomr = .mﬂ_ﬂ._.m :

(F) MFA THEH

12042/450/KD/1434/Trans. {P.T.O.



(W) a1 U

(M) TfdT A=
(w) sivgg Bif1 w SmEr siae Bt
(%) F=9ma w1

2.  What are the subject-matters which are insured by Marine
Insurance? Also bring out the origin and growth of Marine
Insurance.
T &t fra-fem &9 & o e 2 Tee sgvE A
faam =1 W= wH

3. Discuss how are the Insurable Interest, Utmost Good Faith
and Indemnity applicable to Marine Insurance?
TH TvAae ¥ dEme fim ww S T afagld
frg R WEReEE ¥, wwemy

4., What are the various kinds of Marine Insurance Policies?
Discuss the features of these policies.
BT o ot % fafi= wor = €7 3w fafirea 9
== wH

5. Explain the insurance clauses pertaining to Hull, Cargo and
Freight, Discuss in detail Warehouse to Warehouse Clause,
Reinsurance clause and Memorandum clause.
T, S AN B2 § guatyg fm w1 uwst g
TETFA T JIERT FAS (A FEE g A9y
FAS T faw 9 = w1

12042/450/KD/1434 2

"A Marine insurer is liable to indemnify an insured in respect
of only losses which result from perils insured against.”
Comment on this statement highlighting the various types of
Marine losses which can be insured.

YO dm s aen §ifae w FEw 3T T w5 oS R
Tl & faars &m # ool % @ET B 2, ®
IUEE B 21 T weR W fafi=m yen w5 96 et
e o fF W gEAr 2, W TEW TR g feod
F

Discuss the procedure of settlement of claim in Marine
Insurance.

A 8 A e ® AR 1 wfww w5 w= ol

How is the extent of liability determined by the Insurer? Also
provide the list of documents required for claim in different
types of losses.

dim wT g fhw @ 9w aftam @@ e s #2
fafim wwr & Bt F @ % fau aifes e &5t
T A I FwEE|

Write short notes on the following :

(a) Open Policy and Open Cover.

(b) Rejection Insurance.

(c) Fishing vessels.

{d) Container vessels.

12042/450/KD/1434 3 [P.T.O.
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BCM/M-16 12043

INSURANCE, FINANCE AND LEGISLATION-II

Paper : BC-406

Time : Three Hours] [Maximum Marks : 80

Note :

e -

Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks,

FA e WA F S ATV YW wEn 1 sfrad 2
Tt wvAl # oFF WA

1. Compulsory Question ( 3tF@E™ W9)

Write short notes on the following :

{a)
(b)
(c)
(d)
(e)

Residuary Dividend.
Extra Dividend.
Investment Provisions.
Authorities of L.1.C.

Fire Insurance. (5x4=20)

frafafan = dfea feofmt fafag .
(%) ¥ AT
(@) wAidfaa arare
(M) fEw wEyE)
(%) S < fm w sifusrd
(T) sftq <fmm
12043/450/KD/616 [P.T.O.



Explain the special forms of Surplus. 15
Toa % faew w9 woav W)

What is the Investment policy of General Insurance
Corporation ? Explain. 15

= s frm s fafam S = 27 ool ==

What are the basic principles of Surplus and Reserve ? Explain.
15

T R YT ® O fagh w20 9vi w5

In what circumstances may the Registration Certificate of
Insurance company be cancelled ? What are the rules relating
to deposits ? 15

&4 el A dm w1 TNRYR yw-vE | e
TFA 77 Fiey memf fEw w ®

State the constitution and functions of the L.I.C. as described
in the LI.C. Act, 1956. 15

St #f sfufam, 1956 & aftfa i £ @12 3 =t
i AR

Discuss the main functions of General Insurance Corporation
of India. 15

TEE g W frm w ger wE @ smen sifEn

Discuss the provisions of the IRDA Act, 2000. 15
#hm o @ faem wiveror stfufem, 2000 # graue
F1 Fviv Fifsm)

12043/450/KD/616 2

9.

What is the role of Export Credit and Guarantee Corporation ?
Explain. 15

frafa o1 qeon T fom WY gfer s 22wl
it

12043/450/KD/616 3



e e Total Pages : 3

BCM/M-16 12044

ADVERTISING-II (ii)
Paper : ASPSM (BC-405)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 comprising
of five short answer questions carrying 4 marks each is
compulsory. Attempt any four questions from the
remaining eight questions, carrying 15 marks each.

Fd uiwr ¥ ® W A T e | aFEd §

fome i = S99 999 (79 4 3F @) &) I e
I ® ¥ AR W FINU, TESE W 15 3F w2

1. Compulsory Question ( frard wyv)

(a)

(b)

(c)

(d)

(e)

Approaches of evaluating Advertising effectiveness.
faarm g EEET T w1 SRR

How agencies get clients ?

foae wofwE & weE w9 firen #7

Write short note on False claims in Advertising.
‘T o 8 TR’ W wiyw e fafew

Benefits of Ad-agency to Media.

faqmA wet 1 difean w1 e
Need for regulating Advertising. (5x4)

fomm % AR =1 SmEvEEal

12044/300/KD/371 [PT.O.



Explain the organizational structure and functions of
Advertising department. (8,7

e faam & e Y iR TP FTE H saned
ETd)

What is meant by measuring the effectiveness of
Advertising ? Discuss its importance and difficulties in the

evaluation of ad-effectiveness. (3,6,6)

foamee ®1 gHETEE & T ¥ 1 afha 27 faae w5
yoEYied % diET B A iR el € smen @)

'Deceptive and Misleading advertising is harmful for
consumers.' Discuss and comment on the various legal
provisions for controlling deceptive and misleading
advertising in India. (5,1

“OremEt 3 TRE FW A famm sudeEmel # fag
T ¥ W weR # e w o e fagmE @
frafem s ® fou s e T faf= duf wEdA w®
== Fl

Discuss the different types of Advertising agencies. Explain
the role of advertising agencies for clients. (10,5)

fafrs veR = famrm Wi & = w1 faEe
TEiEE ¥ TES TS ® o 9 vew © ?

12044/300/KD/371 2

What do you mean by Client-Agency relationship 7 Explain
the factors affecting Client-agency relationship. 5,10

MeH-TH Gl § 7 ARYE 27 TRHh-To Hay
ey TR I T # SR w

Why is it important to measure Advertising effectiveness ?
Explain the various methods for evaluating the effectiveness
of advertising. (5,10)
faqrm IeEEE ® Hedikd # O JEvEa 27
faeod IEERET F qEE HH & fafes Wl #

=R Hi

Explain the different ways in which Advertising agencies
are compensated for their services. (15)

oo vt g @ T Qe @ 9T W 3= ufisfuew
= =t fafa= fafimt =1 = w51

What is the organisation of Ad-agency ? Explain the
organization of Ad-agency on Departmental basis and Group
basis. (3,6,6)
oA ot ® WMo | T et 27 fam eeR’ W
Ar ‘ugg TR’ R fam TR % Hed # avi wifa)

12044/300/KD/371 3



What is the scope of Selling as a profession ? Explain.

TF W w w9 H famE ® weEy w1 o Y

What are the merits of Selling as attractive career opportunity.

TF AFYF TR FIH & 9 F 959 B o7 a9 3

What is the role of Distribution Network Relationship in
modern selling ?

af fka d frmw TR Tl % W W ol w

What is Sales Mannual ? Define its objectives and importance.
famt faatfors fFd #2d 82 e 3w W wem =
FH

“Periodical reports are an important tool in planning sales.”

Explain this statement with merits and demerits of periodical
reports.

“fawa faem A smafas i o wewqel sww &1
T FHE R A F W@ dEE R S o A
F T H

What is Sales Report ? What are its different contents ? What
is the importance and role of Sales Report ?

fowa Rl v et €7 com fafr o #-3 ¥ fawa
e % 7w @ A # s

What are the major problems of Selling in modern age ?
Explain.

T T A faEE ® A o ygm T wR-d 8
= R

12045/350/KD/1697 2
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PERSONAL SELLING AND SALESMANSHIP—IT
Paper : ASPSM-BC-406

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

All questions carry equal marks.

€T . frfl afer o & s A T e | st R

1.

ot 5 ® o wm ¥
Compulsory Question ( 31fard wyw)
Write short notes on the following :
(a) Kinds of Consumer services.
(b) Define Tour Diary.
(c) Distribution Network.
(d) Responsibilities of Salesman.
(e) Order Desk.
fefafas w wfua feofrd fafgr .
(F) I9T Sl B wEw
(@) TR 3= =t qfewfim =¥ .
(1) Taaror "reAy .
(%) faFawat = oo
(T) aw e

What are the qualities of an effective sales person ? Explain.

e kst % v T ¥, wwen wtm)

12045/350/KD/1697 [P.T.O.
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BCM/M-16 12046

BUSINESS REGULATORY FRAMEWORK-II
Paper : BC-401

Time : Three Hours) [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

e T@ ute T ® IW ARG W wem 1 e 3
ot T ® ofw T

1. Compulsory Question ( 3ifamd we)

(a) Explain the subject-matter of Contract of Sale.
foma agey =t fawa-umit = =1

(b) Give essential characteristics of a Negotiable instrument.
fafme e sa-va # v Ao A

{c) When is condition to be treated as warranty ?
T AR HA WA &2

(d) Explain precautions in writing the Bill of Exchange.
fom forad w8 wm [ A 99 TRy

(e) Explain jurisdication of District forum.
o 5= % sfusr & = avir #ifm

(f)  Who can be person resident in India ? 16

@ o et wfm e o8 gwa 2

12046/3,100/KD/372 {PTO.



What is Contract of Sale 7 Give its main characteristics.

Distinguish between Sale and Agreement to Sale. 16

forwa srgary T 32 Tt gEa favwanet @ vl Fifsw
fawrg qu faa & Je0g § oW T wifay)

Explain the term Delivery, and state the rights and duties of
buyer regarding delivery. 16
G I T A FIAY G20 I B =Y H Ha S

Sfyswmrl we FdE F TN HIFAU

Explain the doctrine of "Caveat Empter” in respect of Sale
of Goods Act. 16

“war gEdE ®" @ fagm w1 Tq Gy ofutam =
=4 § = wifeu)

What is Crossing of Cheque ? Who may cross a cheque ?
Explain the words frequently used in crossing of

cheque. 16
IF F @FT T T 9% F T@FT T F GFA &2

WFHET § v W@ fFr IR 9 7= = oaviE sifem)

Explain the essentials and kinds of Valid endorsement. 16

Y J9H H FEYEF qF T§ WER F1 G Hifeu)

12046/3,100/KD/372 2

7. Explain the composition of redressal machinery of Consumer
disputes and state the provisions regarding enforcement of
the order of redressal machinery. 16
e faare famm % fau g 7 & 7T St e
FfE R @ 7 & e & Wadd waul wEye &
=R FfS)

8. Explain the provisions of FEMA regarding appeals to Special
Director. 16
fafre e (sdfien) & sdta 0 F o0 FEMA &
WEHH &1 T I

9. Write notes on the following :

(a)y Capital Account Transactions.
(b) Directorate of Enforcement. (8+8)
fm m femfrar fafew .
(31) o @ SR
() yada fiememl
12046/3,100/KD/372 3



——

Roll No. e,

Time : Three Hours]

Total Pages : 11
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CORPORATE ACCOUNTING - 1I
Paper : BC-402

{Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

AT : FHH e T F IW A WW |1 e 3w
g ® &% e £

Compulsory Question
(fFEd u9)

1. Explain briefly.
iy =7 § Fard|

(a)

(b)

(c)

(d)

(e)

t)

Intrinsic value of shares.

39 F AT qed|

Pre-acquisition and Post-acquisition Profits.
T F @ @ F9 F TR
Preferential creditors.

gaifre AR

Rebate on Bill discounted.

AT T fael | FIE

Life Insurance and General Insurance.
Eicelic il i el |

Minority Interest.

sega e

12047/3,900/KD/838 [PT.O.



2.  Under what circumstances valuation of Goodwill is required ?
Explain various methods of valuation of Goodwill. Which
method is best one 7
fora fifeefoal § nfa & geaiea # sTavawa ot ® 2
wfa geaea #i fafa=m fafmf &1 9o =% FR- 57
s ? 2

3. The Balance Sheet of Raj Ltd. discloses the following
informations as on 31st March, 2004. .

31 W, 2004 & 19 fafee & faeg v frafafes e
G e
Liabilities Amount | Assets Amount
L T
20,000 Equity shares of | 2,00,000 | Plant 1.50.000
210 each fully paid ()
(Tma goit) Furniture 25.000
(FAT=)
General Reserve 1,00,000 | Investments 20.000
(T frd) (Frarer)
5% Debentures 50,000 | Stock 1,25.000
(5% o) (ETF)
Creditors 32.200 | Debtors 50.000
(*HT) (F)
Bills Payable 6,600 | Prepaid Expenses 2,500
(%3 faer) (ye=a =33)
Bank Balance 11,300
(F% dw)
Preliminary Exp. 5,000
(Wi =94)
3,88,800 3,388,800
12047/3,900/KD/838 2

Raj Ltd. intends to purchase the business and amount are
revalued as follows :

TS feafies =rawma a= awd € olk gwtaal w1 s
freAfafes 2 .

4
Plant 1,70,000
(=)
Furniture 15,000
(FITET)
Stock 1,42,000
(&)
Prepaid Expenses Nill
(g =7a)
Profit for past four years
fiodt =R w@ & o™

4
2001 45,000
2002 40,000
2003 60,000
2004 60,700

5% Provision for doubtful debts.
dfery woil ® faw s w1 weum w2

Profits include income from investment 2,800 each year.

voE T8 ol § FRe ¥ w7 2,800 F g gfwfe 2

Ascertain the value of Goodwill according to capitalisation
method if the normal rate of return is 12%.

e WEFE AW w W 12% | a deiem g g
Tt & e §@ H

12047/3,900/KD/838 3 {PT.O.



Following is the Balance Sheet of ABC Ltd. as on

31st March, 2012 :

31 A, 2012 1 ABC Lud. F1 Tz fAfefom @ -

Particular

Amount | Amount
T ¥
. Equity and Liabilities
TS o7 AafEr
Shareholders Funds :
Equity Capital 5000 shares
of ¥ 100 each — 5,00,000
wH et
Reserve and Surplus — 1,62,000
=g Ud §9d
Non-current Liabilities :
R-wm wfew
10% Debentures — 2,00,000
10% HOT9H
Provident Fund — 60,000
qfasg fafy
Current Liabilities ;
=] W
Trade Payables — 7,38,000
HEaE Rl
Workman's Saving Account —_ 40,000
FHET TEq @
Short term Provision :
Taxation Provision — 1,00,000
ey oafy yEuH : d9 wEuH
18,00,000

12047/3,900/KD/838 4

Particular >BM¢E >BME:
I Assets (TfaD)
Non-current Assets :
.w,.ﬂnmdﬂ e — 8.00,000
Fixed Assets
Torett geafeat
89 Govt. Securities at Cost — 1,40,000
(Face value ¥ 1,50,000)
g9, TR faefEl @rmE W
(%9 Fe1 T 1,50,000)
Current Assets :
19 gt
Inventory —_ 2,00,000
MH.H Receivables — 6.20,000
. 28,000
Cash at Bank — ;
R — 12,000
Shares issuc €xXxpenses ,
s fv = 18,00,000

Other information :

=1 I

(i) Market value of 1/4th of t

their book value.

he fixed assets is 30% above

Egﬁﬂﬂaﬂﬂmﬂmﬁﬁ%mﬂmﬁa@

30% AfE 2
12047/3,900/KD/838 5

[PTO.



(i) X 10,000 of the Trade Receivers are to be considered
as bad.

SEHa® WEa | 10,000 T w9 Wi
(iii) Profits of the company for the last three years were
T 1,90,000, ¥ 1,70,000 and T 2,50,000 after interest on

debentures but before tax. Rate of tax may be assumed
as 40%.

FOH RN P 9% 9 7 Q9@ v @ fooe @
au AT 2 1,90,000, T 1,70,000 T T 2,50,000 ¥
F A T 40% T T

(iv) 25% profits are transferred to General Reserve.
25% @ wAF fod ® eeaifE iR R ¥

Calculate the value of shares by net assets method and by
Earning Capacity method.

qs T fafy o sueh ama fafr @ o w1 g
Eicad

What do you mean by Consolidated financial statements ?
Give format and contents of consolidated Balance Sheet

of a Holding Company having one subsidiary company.
THiFa o fom @ o wn oowen # ) w wedw
ﬂim@ﬂ%ﬂﬂ%%@ﬂ%ﬁﬂ@ﬂﬁ%
g faero 3

12047/3,900/KD/838 6

6.

Juneja Ltd. went into Voluntary liquidation on 31st March,
2004, Their Balance Sheet is as follows :

RIe |
31 T, 2004 F TN fa o Sfees wEET |
s e faeg frefafas @ -
Liabilities :

e

Issued and Subscribed Capital :
fpffm Ot

15,000, 10% cumulative Preference

shares of T 100 each fully paid 15,00,000

15,000, 10% W=t qaEf¥=R 39

z 100 F TH (T =)
7,500 Equity shares of Z100 each, ¥75 paid
7 100 W&F ® 7500 THa 3, T 75 WA
22,500 Equity shares of ¥ 100 each, ¥ 60 paid 13,50,000
7 100 Y&F $ 22500 TH@ 3, T 60 WA

5,62,500

15% debentures secured by floating charge 7,50,000
15% ®UTH, =@ 99 g g
Interest outstanding on Debentures 1,12,500
UG W W AW
Creditors 9.56,250
[SEEA!

12047/3,900/KD/838 7 [PTO.



Assets :

wofaat -

Land and Building 7,50,000
9H & R

Machinery and Plant 18,75,000
WG 9 wie |
MMMMM 3,00,000
mﬂwow 4,02,500
&

Sundry Debtors 8,25,000
fafs 3R |
Cash at Bank 2,25,000
I% ¥ Tws U |
Profit and Loss Account 8,53,750
GG RCIn|

wnmmmnosﬂ dividends were in arrears for two years and creditors
included preferential creditors of ¥ 38,000,

qEifeR S W 2 T H ooy W o aw o e o
? 38,000 % YR SRR wime €

The assets were realised as follows :

gefaal 1 agen frefefaa . z

Land and Building 9,00,000

M TE S

Machinery and Plant 15,00,000

S e |
12047/3,900/KD/838 8

12047/3,900/KD/838

Patents 2,25,000
=g
Stock 4,50,000
=ih

6,00,000

Sundry Debtors

fafy= 2T

Expenses of liguidation amounted to ¥ 27,250.
TR = % 27,250 ®

Preference dividend are to be paid automatically at the time
of liquidation.
ﬁ?ﬂmgﬁaﬁﬂ%ﬂﬂﬁaﬂmﬂﬁﬂ@

Liquidator is entitled to a commission of 3% on assets realised
except cash. Assuming that the final payments including those
on debentures were made on 30th June, 2005, show the

liquidator's final statement of Account.

fraE T TEE F SEH a9 M W ® T W
30, FHEEE 9 TE T FwowE fed = T 30 91,
2005 F fF man freame @ sifm Tl feem wm

TR

Give specimen of Bank's Balance Sheet with Schedules

according to Banking Companies Act.

Sfen wor afufem @ oER S 50 ST 9H A
sfei faed & dregw T fraw 2

9 [PT.O.



8.

On 3ist March, 2010 the books of General Insurance
Company Ltd. continued the following particulars in respect
of Fire Insurance business :

31 §rd, 2010 F FRA A FoAT fafmee w1 s
A o gEfrn Eaw § efates fe syes €

Particulars 4
Reserve for unexpired risk on 31st March, 2009  5,00.000
samtas Sifem & fau §99 (31 94, 2009)
Additional Reserve on 31st March, 2009 1,00.000
sfafea "= (31 A€, 2009)

Claim Paid 6,40,000
FH TEH

Estimated Liability in respect of outstanding claim

wH oW @ for SEEeE e

On 31st March, 2009 65,000
On 31st March, 2010 60,000
Expenses of management including ¥ 30,000
legal expenses paid in connection with claims 2.80.000
T 30,000 FH AN § FEHG FA T
wfeq FTHHE =09
Re-insurance premium 75.000
qA: = Wi
Re-insurance Recoveries 20,000
g T fwad
Premium 11,20,000
i
12047/3,900/KD/838 10

——

Interest and Dividends 64,520
o F A

Income Tax Paid 6,520
MTFT A

Profit on Sale of investments 11,000
fraw fawa W =W

Commission 1,52,000
E NG

Prepare in prescribed form, the Fire Insurance Revenue
Account and Profit and Loss Account for the year ended
31st March. 2010 reserving 50% of the premiums for
unexpired risks and keeping an additional reserve of
Z 1,00.000. Assume the one-fourth of the premium and claims
are applicable to outside India and the gross premiums written
direct in India amounted to Rs. 11,25,000.

31 TE, 2010 ® Fruffe wew ® sifw & g @@ A
Y-l @ s 50% Wfyen swmtrs Sfem % fag
T9 T AW T 1,00,000 fafEa gewa @A B A
3 SR FT 14 WM UG ¥ a8t § getyd ¢ ol ae A
TFT g8 WEAH T 1125000 2l

Write notes on the following :
(i) Claim for loss of stock.
wF F FH F FE
(i) Claim for Consequential Losses

SR T F A

12047/3,900/KD/838 11
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AUDITING
Paper : BC-403

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. | is compulsory.

All questions carry equal marks.
T FT U WA F I AR W wem | sfEd
aft yedl F ofw wEE F

1. Compulsory Question ( 31 aTd wg7)

(a)

(b)

(c)

(d)

(e)

(f)

What are the objectives of Verification of Assets 7 (3)
T #® e @ ow sy &2

Distinguish between Accountancy and Auditing. (3)
AEFEH F TR § FwR T Hfw

What are the objects of Audit Working Papers 7 (3)
e FE T B a 3evm B2

Give the importance of Vouching. 3
"YHIE T Hew FdTey)

How does Investigation differ from Audit ? Give any
Hwo points. (2)

ATHIA SFwa W 59 v i 20 fae 9 frgad
F1 TR
Explain two limitations of Auditing. (2)

AT H1 G FEET w1 oavi

12048/3,000/KD/373 [PT.O.



What do you mean by Continuous audit 7 Explain its merits
and dements. Also explain the remedies for safe guarding

from its ill-effects. (245+5+4)
e SFT W T TN GATA 2 T@H U 9 2N B A0
FIQ| THFRT THRA | F=99 F I H o g Hifegy

"An auditor is a watch-dog and not a blood hound.”
In the light ot this statement, discuss the duties of a
Company auditor. (16)

‘U SR AN B A w % 99F ¢, e w5
F o TE' T R F A H T §0 FEA TR
F FdA AR

What is Vouching ? Discuss the steps for vouching
(4+6+6)

JHOTT w27 FA 99 IR Taww wE % oy & fom
I3W TH T FEA i A HIfFU

Purchase Book and Sales Book.

What is meant by the term 'Verification of Assets' 7

How does it differ from 'Valuation of Assets' ? As an auditor,

how would you verify the amount of Stock-in-Trade ?
(4+6+6)

‘gefaal ® T o S 9 SINE 27 I Cuefeal &
T’ § #8 fom 87 0% o3%F % ¥9 § 99 FR
% WhE % 709 W T w9 FHan

12048/3,000/KD/373 2

6.

What is Auditor's Report 7 What are its various types ? Give
specimen also. {4+8+4)

Heym foe = 27 o7 fFed woR it g 22 T o €

What is Routine Checking ? What are the advantages and
disadvantages of Routine checking ? (6+5+5)

Yorw Ste w7 TEE W9 3 T W ave Wi

What is meant by Investigation of Accounts ? Why
investigation is conducted ? How will you investigate
on behalf of the owner who suspects fraud in the business ?

{(4+6+6)

o F A W AT T IS 27 SFEeE W R
T R? UF @R ® T F o ¥ g smm | w e wm
TRE B, AT ATEHE HY H?

What is meant by Internal Check ? What are its objects ?
Explain the essentials of Systematic internal check.

(4+6+6}
=i friegm w1 F o 22 | o sy ) uw
oAt o fitem yorelt = gem daen &1 9
Fife

12048/3,000/KD/373 3



(F) TF F faseh § 9o o faciy a7 @) faset
F fiadl # @9 8 = Iee 0.01 €1 300 fEe
F YN g 5 fEdA ® GuE e w1 wigwa FJ=@a 22

(@) e famm # fsivad $F-9 2

9. (a) If the mean height of soldiers is 68.22" with a variance
of 10.8". How many soldiers in a regiment of 1000 can
be expected to be over 6 ft. tall? 8

(b) The wages of 5000 workers were found to be normally
distributed with mean Rs. 2000 p.m. and standard
deviation Rs. 120. What was the lowest wages among
the richest 500 workers ? 8

(%) A faufedl #1 sige w98 68.22" ¥ &R wEmwr
10.8"" &1 1000 famfeat & =o1 ¥ a9 feed fywfeat
F 6 B2 ¥ Afum $W R F TN S B

(@) 5000 HH=E 1 Fogl g famo) | oefE ©
3R FERR WA 2000 T AfEE T g9 faeem 120
FAC B 500 R F FI-Y-%w Hogh wag

12049/3,900/KD/555 4
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BCM/M-16 12049

BUSINESS STATISTICS-II

(Old Syllabus 2011-12 Reappear)

Paper : BC - 404
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions carry equal marks.

AiE . HA uiw WA F SW dfeu uwR gem 1 et #
Fft I F FF qEE €
Compulsory Question ( 37F=rd W)

1. (a) Discuss the method of least square for measurement of

trend. 3
(b) What is time series analysis ? 2
(c) What are mutually exclusive events ? 2
(d) What is Bionomial distribution ? 3
(e) What is the probability of getting two 'identical numbers'

if we throw 2 dice simultaneously ? 3
(f) What is the importance of probability ? 3
(F) g7am =11 fafy g eme 3wy W@ =+t = R TR

FM?

(@) @ 4vit w1 faveme = 27
(M) wEfiE duast gea wE-d 2 87
(%) g famm = &2

(T) 3 7 T TF WY BF4 W I GX TF IO T A
¥ gIEA 22

(7) TTFS FT FN TEE 27
12049/3,900/KD/555 [P.T.O.




2.  What are the seasonal variations ? Explain the various methods
for measuring seasonal variations. (4+12)
Aot foreror w0 €2 O faerol W A ) fafet
FE-FH @ 87

3. Fit a second degree parabolic trend to the following data :

16
= s R o a% @
year 2003 | 2004 {2005 | 2006 (2007
Production (in crores Rs)| 5 7 4 9 12
4. Calculate seasonal index by link relative method : 16
e geageE fafu g st gewiE T oW
Quartey Link Relatives
2001 2002 2003 2004 2005
I - 80 88 80 83
I 120 117 129 125 117
I 133 113 111 115 120
v 83 89 93 96 79
5.  Write short notes on the following :
(a) Equally likely Events.
(b} Random experiment.
(c) Multiplication Theorem of Probability.
(d) Conditional Probability. (4x4=16)
12049/3,900/KD/555 2

frafafaa w dfvw feoolt fafag
(F) G9-HE S

(@) ¥ wEm

(M) wfawa ® EE W

(91) g Wi

(a) A card is drawn out of a pack of cards. Find the
probability that a card is an ace, a king, a queen or a
card of club. 8

(b} A problem is given to three students A, B and C whose
chances of solving are 1/3, 1/4 and 1/5. Find the
probability that the problem will be solved. 8

() A191 HT L 9 TH T e T T UR FOIEE,
FRIME, IH 1uEl fUEt ® BN W TIE sqad Hi
(@)dF o& A, B 301 C & T W1 T F¢H ® fou
fea T fu® @ 9 F SGYEEE wE: 173, 1/4
AR 15 & T W T FW F WA 7| i

What do you know by Poisson Distribution ? Differentiate
Binomial and Poisson Distributions. (8+8)

T A ¥ o T gewa &7 e famor aen qreee

faRm § R we #ifE)

(a) A company makes electric toys. The probability that an
electric toy is defective is 0.01. What is the probability

that a shipment of 300 toys will contain exactly 5
defective toys? 10

(b) What are the properties of Binomial Distribution ? 6

12049/3,900/KD/555 3 {P.T.O.



4. Explain the various types of constraints used while creating
a table. Explain by taking suitable example. 12

I T F 29 W T e wee wam R 9w T
faf=1 ¥ ® Constraints %1 I F|

5. Define the following terms with suitable example :
e = = s R qfenfa Wi
Primary key, Foreign key, Candidate key, Super key. 12

6. (a) What is Relation ? What are its characteristics 7
Relation TN %7 9% F w&m 2
(b) Discuss the concept of create directory and create
library. (6x2=12)
Directory and Library M &t == &)

7. Discuss the major applications of ORACLE in business. 12
=R o SREA ® THE Sy W == $ifww

8. Discuss Weak and Strong entities by taking suitable example.
Explain how weak entities are connected to strong ones. 12

IFE I FAOR AR TEE gl Wi ow=t w1 HEEr
THEE Ao ThEdl 9 fFE weR g €

9. Differentiate between the following terms :
e e A= e F
(a) Left join and Right join.
(b) Centralized and Distributed Databases.
(¢) Triggers and Functions. (4%3=12)

12061/700/KD/379 2

Roll No. . Total Pages : 2

OBCM/M-16 12061

COMPUTER APPLICATIONS
(Fundamental of DBMS-II)
Paper : BC-406

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Questions No. 1 is
compulsory.

e : HA ug WA B TN AW TE ° 1 st

1. Compulsory Question ( 3fard wyw)
Define the following :
= & oftnfm =X
(a) Relational database.
(b) Break clause.
(c) DDL and DML.
(d) Entity.
(e) Database links.
(f) Database object. (6x2=12)

2. Describe the following SQL commands :
e SQL Commands 1 U W

(a) Revoke

(b) Insert

(c) Truncate. (4%3=12)
3. Discuss Three-tier architecture of DBMS. 12

DBMS #® fi-wim anfedsm =1 ovf1 &%)
12061/700/KD/379 [PTO.



7. Explain ‘Upward R’, ‘Downward R’ and ‘upward Sh’ with Roll No. v Total Pages : 2

suitable examples in Shorthand.
OBCM/M-16 12063

8. Explain Compound Consonants in detail. SHORTHAND (ENG.) {(THEORY)

. . Paper : OMSP-BC(VOC)-406
9. Draw the outlines of the following :

(a) Fighter Time : Three Hours] [Maximum Marks : 50
(b) Living. Note : Attempt five questions in all. Question No. 1 is compulsory.
(c) Rainy. Attempt four more questions from the remaining eight
() Hair. questions. All questions carry equal marks.

(e} Conclude.
(f)y Foolish.

{g) Self-respect.
(h) Confidence.

1. Compulsory Question
(a) Whatis Prefix ?
(b) Doubling Principle in Shorthand.

(c) Intersections in Shorthand.

(d) Consonants.
(e) What is Medial Semi-circle ? 10

2. Explain Halving principles in Shorthand with suitable
examples.

3. Explain the rules and list of Contractions.
4. Explain the Suffixes in Shorthand with examples.

5.  Explain the Writing of figures in Shorthand and Note-taking
techniques.

6. Explain the importance of Intersections in Shorthand with
examples.

12063/100/KD/1699 2 12063/100/K1D/1699 [P.T.O.



9. Write a detailed note on 'Pre-Testing' and 'Post-Testing' Roll No. .. Total Pages : 4
methods of measuring the advertising effectiveness. (8,7)

Mo - Te fafi’ o fame S e R BCM/M-16 12066
F! fomr © == w579 fagr@ F1 wsarcgsa w1 /9 ASPSM
foran s weh [Advertising—TI(ii)]
Paper : BC-405
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt four questions more from the remaining eight
questions, carrying 15 marks each.

AT : F7F w91 F S AfAw wvw e 1| FhEd v
A8 W ¥ ¥ 9 W SR SN TS W 15 o
T B

1. Compulsory Question (@™ wyw)
Answer the following short answer type questions.
frafafes &g Swim wea & sw dfaw
(a) How would you organise Advertising Department on

the basis of functions ?

FE ® MR W oA faqw fam = &9 wwfsa
F41?

(b) Write a short note on Misleading Advertising.
THE FH o oo oS 9 el

(c) Approaches of evaluating Advertising effectiveness.

faamm ywEEEES geaiee &t fememd)

12066/150/KD/346 4 12066/150/KD/346 [PTO.



(d) Types of Ad agencies.
o wfal ® WER

{¢) What do you mean by Client-Agency relationship ?
MeF-THA e ¥ g s AfwgE ¥ ?
(5x4=20)

Write a detailed note on organisational structure and the
functions of Advertising Department. 15

fomma faum @ g o B @ wrEl W faega feorof
g

What do you mean by evaluting the effectiveness of
Advertising ? Discuss its importance. What are the difficulties

in evaluation of Ad-effectiveness ? (3,6,6)
foaa 1 TRRET B qeaied ¥ JOE w7 At
2?7 % UEEEA ® UEE T TEAET W A Al
TEsh ®t ren )

What do you understand by Legal framework of
Advertising ? What rules are framed by govt. to regulate
advertising 7 (5,10)
AT % Yute o ¥ s wn g ¥ faE
# frafse #6 & fou @R g0 = yaue e
§2 =mEm w

12066/150/KD/346 2

5.

Discuss the relationship between Advertising and Ethics.
Why is it necessary to observe ethics in advertising 7 What
suggestions will you give to control the unethical and

deceptive advertising ? (5.5,5)
o we Hifqwme ® wey & fagem w4 e & odw
¥ ifreres w1 uem e e 4 avas ¥ 2 shfaw |
sraet A e w fEfA w0 e e geE 3

Explain the principles of effective Client-Agency relationship.

Give reasons for client turnover from Ad-agency. (8,
AEFH-THH =Y & el H @ fagh = e
F{| fogoaed gr faam @ gt % RO TR

Explain the organisation of Ad-agency on Departmental

basis and on the basis of Group activities. (8,7)
fafe= fagrll & oMUR W T 9 fFwe ® emR W
faames Tl ® TIeA F1 A F:

How Ad-agencies get clients ? Explain the various methods

to remunerate Ad-agencies. (5,10
foam wafwa s fFE TR T@ F & 2 famm
wited # nftgfrs 1 # fafe i | s w1

12066/150/KD/346 3 [PTO.



7. Costing” aind - Budyetan
¢ ontrol’ ol svstems inter-related 15
Ty TN fEEm F e wifan

= ’

ER)

[2eitng

Piscuss tie <teps

olved moresponsibitin 15

FTIETS A7 A iry 04 & TETEH
EETR FrhaT
D o] U Re 1T iy iy
~N i Rs ia
* o Rs a
" looino B ; Basts of abose

Sr5+5=1

L

B0 T

REtE i

2. Tieiine B

Rl No. v, Total Papes ;04

BCQ/A-16 12068
MANAGEMENT A0

RO-GO

NTING

Fime s Three Hours

Note Q. Noo 1 is compufaor
(rom the reman
TS T |
PEE =1

o) What is the nature of Miancgement Acceunting V4
Y47 FEHT 5

(by  What Is meant bv cost reduciion . 4

A W FH O osm s g 7

() What is target costing 4

w2

e

idy Whar s ore

b

o) Detine bude

AL R TS e

3

ductary Control. by

Thr
ih

hudectany coniral ina axation,

(2-433 - 12008 P10,



3. Define Managemen:

scope. Do : ; :
- . 1t
AT hTH AET ota
. o
1 FTH
H L Ty
o Lo Ry

4. The expenses huadget for produociros 0 T

factory are tinished boelow
Per Unit
AL
(i Materiag i
(1) [abour oS
(it Vartable Overhead- 24

() Fived Overheads (R, 006060

{(v)  Vanable Fypenses >
(vi)  Selling Expenses Hovs 3
(vit) Distribution Fxpenses 2 JRNSN: K 5.

(Vi Admimsirtive Fypenses (Rs

Prepare a budget for the mroduction -

(1) K000 units

.,
by

(i) 6000 units.

Assume that

level of production is

L-12068 : v
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ﬁﬁmﬂﬂﬂ,%ﬂmﬂiﬁﬂﬁﬁaﬂ%ﬁﬁ%
F AT T )

.

g 7

2. Mr Rahul. an Indian citizen emploved in a COImpPam
stnee 2010 furnishes the following information for the

assessment vear 2015-16

Basic Salary '« % 27.000 p.m. 3
City compensatory allowance 1.000
Dearness allowance 4,860

Use of car for personal purposes tor him and his family
at coneessional rate. Expenditure by emplover for personal
purposes T 12.000. Amount paid by the assessee T 3.000

Interest on listed notified debenture 12,500 Nety

Divider : 4
On Shares of Foreign Co, 5.0010)
On Shares of Indian Co. 4.8M)

Bestdes Mro Rahul has a house property at Karnal.
Municipal value of the house is T 45.000. The house is
let out a4t ¥ 3500 pome The foilowing expenses incurred
during the previous vear. Municipal taxes T 4.000: Repairs
T 300, Contribution 1o PPE % 3300, Premium paid on
his own Life policy T 8.000. Lducation expenditure ot

dependent son T 230 Cds on fees tooaeotlege

He deposited Rs 1o v onannan nlan of 1.0 of

rJ

L-12070

7. What do you understand by Penalties 7 Why are penaltics

N

imposed upon assessee 7 !
SUTTZ A AT F mEEA € 7 M 9 sefevg

A

ES I e M 1 B

8. Deseribe the difterent modes of recovery of Tax. 13

%&mﬁ%ﬁﬁ%ﬁ.ﬂmﬂﬂ.ﬁmiﬂ%_

9. Maunisha Manufacturing Co. () 1. carrving a business
in manufacturing and machinery spare parts has submitted
the following particulars regarding its  income  for
assessment vear 2015-16. Compute total income and {ax
lability 15
ta)  Income from house property (Net) 40.000
(h) Income from manufacturing

business of machinery 3.00.000

(¢)  Short-term capital gain on sale of

land 1.05.000
4.45.000
Less :

4

() BF loss under income from
house property for ALY 2014-15 10,000
Donation u's 80 (7 by cheque 1.06.0400

Business loss bt

(1y  Relating 1o ALY, 2012-13 60.000
(27 Relating to ALY, 2013-14 3.40.000
- 5.16.000
Remrned Joss - 71.000
(313 L-12070 7 P.T.O.



2.

L-12070

Ty AR IR & ASE SEOW s WO AR &

.
.

PUFANTE T 7
() HT E A P oF 7 AT w A FA IOT EME]
& 7
Mr. Rahul. an Indian citizen emploved inoa company
since 2010 turnishes the following infermation for the

assessment vear 2013-16

Basic Salary '« T 27.000 p.a, <
City compensatory allowante 4.0010)
Dcarness allowancee 58010

Use of car for personal purposes for him and his tamily
at coneessional rate. Expenditure by employer for personadl
purpuses ¥ 120000 Amount paid by the assessee 2 3,000

Interest on listed notified debenture 12500 (et

Divider. 4
On Shares of Foreign Co. S.000
O Shares of Indian Co. 4 870

Besides Mr. Rahul has a house property at Karnal.
Municipal value of the house 1s T 45.000. The house s
ler out at T 3,500 pm. The following expenses ncurred
during the previous yvear. Munieipal taxes T 4.000: Repairs
T 200, Contribution o PPEF ¥ 55000 Premium paid on
his own lite policy T 80000 Fducation expenditure of
dependant son T 2305 pod as twion fees ooa college

He deposited Rs o To s oo an annuuy plan of T.LC of

[

India for recerving pension. He alse contributed T 10.000
o a pension scheme notified by Central Govt. Tiis
cmplover company also contributed the same amount 1o
NS

Compute taxable meome of Mr. Rahul for the assessment
vear 201516, 15

oA s f&2 = andm afie § ouw owuEd oo

2000 F 3FTs 202 - fbmogd 2018 16 ® ey
g fasfafem wdm yos = 7

e Ad7 o f D706 yhinE 3
T wrEE g 4.000
HETE 9T 4.800

frmsr A q ud WeR ® owam o& fery ouw o=mn

fama =v 9 4 & 0 fEEe 3 g g w T 12,000
GE fE | wwm o3 o o o000 s e
friEm W e 2o |

=Ed (Listed) A ARIEEE CENIH W #AN (YF)

< 12.600 1
ATHTIT

FEE F A T owE e T 5.000

A FEH HOW A9 3 4.800
ERE G Lt e B | o B R e T 1
werfa 7 T Tmats gemwa T 45.000 § 1 W
A 7fd w3500 Wfd omE feea w o ffm o

2 1 TaEd 9 @ UeH gwfy w Aefatad wal w

-

EUGIE I CT S A

THUTAFRT Y 3 4.000
parr=ars MOl T 300
(3-13) L-12070 3 P.T.0.



L ARG 115 B = e 7 U B SO R

T IR (Diemium) FTEE S e _ | o
LR R DI ) i = o o S
wOTET ) apdla Sy A : “ R
T o000 s fai o S SR L , o :
e S EIEEE B T e T o e e
ETO
T T T TN, gy 0n0s o : T A
ATET S
30 N and Boare cqual partners ina ., T V.
natiot compule firmts Lo A |
for the assewseent ve [
Profit and Los: Sccount V E
for the vear ending i Narch s . e
g, & SN |
Other expenses A \ . |
Kemuneration | T , : N ,
to partners tequaly 2010000 -
Interest on oo THL e
Capiial of RNAIE R N Y . e
T 2530600 Gl
140 V[SOT
L-12070 4 i . SN




freAfafigs @fdfee g off wem «1 v € .
(31) 3= W= 8 T 20250 U @d of wifaw § & fF

(F) T Fd # EITN S wH W AR T .

4
(i) ronfrE e (2011-12) 30,000
(i) #= =mamfrs w=fFE (2011-12) 40,000
ity gemr wfAE (20101-12) 10 000

15
What are the various authorities envisaged m the Indian
Income Tax Law and what are their functions 13
grag JAwr foum o fea-fea wfv=s F HH

5

fFm T F AWl IEF O & B 7

What is income tax return 7 Is it mandatory to fiic

income tax rcturn 7 Discuss the procedure for filing

0

income tax return. ]

&

st fred = % 2 w1 o9 w1 foamm =fEa w5
sfrart ® 7 smEr faamm F1 F Frd-fafy

.

TR

What do yvou understand by “Pay as vou carn scheme™ 7
Explain clearly the important provisions of the Income
Tax Act in this connection. 15
“IG wHEA AR F GRS A HOAT FA TEEE
7 3@ gEs ° g afufee & meEl wEee

H W AR &I |

L-12070 6

7. What do you understand by Penaltics 7 Why are penalties
imposed upon asscssee 7 15
SUETE W HT F THAd F 7 wEmEE W wdEne

8. Describe the difterent modes of recovery of Tax. 15
O ARl & frm-fem q0wl w o =wfes

9. Manisha Manufacturing Co. (P) Lid. carrving a business
in manufacturing and machinery spare parts has submitted
the  following  particulars regarding its  income for
assessment vear 2013-16. Compute total income and fax
liability 15
ta)  Icome from house property (Net) 40.000
(b Income from manufacturing

business of machinery 3.00.000
tc) Short-term capital vain on sale of
land 1.05.000
4.45.000
f.ess :
3
(1) B F loss under income from
house property for ALY 2014-15 10.000
{1 Donation u s 80 G by cheque 1.06.000
01y Busimess loss bt
(1) Relating to ALY, 2012-13 60.000
2y Relating to ALY 2013-14 3.40.000
3.76.000
Rerirmed Toss - 71.000
(3-13) L-12070 7 P.T.0,



Roll No. ...ueneeeee. Total Pages 1 ¢

BCQ/A-16 12071
SECURITY MARKET OPERATIONS
BC-604
Time : Threc Hours] [Maximum Marks : 80

Note :  Attempt Five questions in all. Q. No. 1 is compulsory.
T W W w I AU oy wen 1 st

T

1. Writc short notes on the following : S5x4=20
(a)  Mcthods of sclling securitics in primary markets.
(b)  SEBI guidelines on the public tssues of securities.
(¢)  Procedure of listing of securities on the National
Stock Exchange {(NSE).

(d) Stock trading mechanism on the Bombay Stock
Exchange (BSE).

(e)  State and differentiate between Stock Option and
Future Contracts.

freafafes © fga femfory fafau -

() wefoE AT H s AR s et

(9) wiayfml & | 999 W (SERD) #1 mriests

(7)) T =y falmm (NSE) w afagfn s fees
EZCEEANIE )

(3-18) [.-12071 PT.0.



GDRs @21 ADRs H

(2) =ma W& wsEE= (BSE) W W@ =OqE TifEe!
(3) W& oer g 9fgwm &7 g@ieagedl § = T

EIEL

Critically examine the role and functions of securities
market 1n financial intermediation in India. 15
ad W et fadm o whagfern & wet o gfa
T ATAATHS T A |

What 1s derivative trading ? What are its mecthods 7

7+8=15
S AWK F E 0 Il faa wm ¥ 7 famm
T Ui Ffae

Describe 1 detail.

Describe factors mfluencing option premia (price). Explain.
how are these imbedded in Binomial Option Pricing
Model ? 7+8=15
AE ffn (Fme) & gl w1 9w @

Ui Hifwy ¢ fgue foFes wew f[uRo Az § 7 fFg

TR e fF s FO?

State and differentiate between GDRs and ADRs. Also
exptain SEBI guidelines for-raising capital overseas.

7+8=15
ERELNIRC i C il G
I Lic B

5

+ ferm SEBI & wii-f5

L-12071 2 ‘

6.

What do you understand by demutualization of stock
exchanges ? Also describe operational hurdles in this
regard. . 5+10=15
e faftm & megedi 49 (Demutualization) ¥ @
O ¥ 7 T WaW W oW el wEEe w1 gu
ity |

Critically examine, why FDI inflows is not keeping pace
with economic :moomm:w despite credible policy perspective
and a strong Govt. push. 15
oy faeell e favamaa ofes s qon w wvee
TER Afq % Al e smavmewar =t ok 3m
T F O A W T 7 AeEEE T i |

Write a comprehensive note on the operational
performance of the NSDL. 15
NSDL % uf=mer welR wm uw foma fouoft fafem )

Write notes on the following : 5+5+5=15
(a) New Financial instruments

{h)  Accounting regulation of stock trading

{c) Euro issues.

fefen W foafoer fafew .

(21) 7@ fod sy

(F) T AUR F oow Al

(7)) U frss |

(3-18) L-12071 3 16,800



RoM N0 v Totai Pages : 03

BCO/A-16 12072

fmrernational Marketing
BC-605

Time . Three Hours] [Maximunm Marks : 80

Note : Attempt Five queations in all. Q. No. 1 1s compulsory.
Atomnt other jore questions out of remaining eight
guestions.

= g TR W I A R

oo s WA o B 4 ww Hifaw

1 wf9ard

1. Write short notes on the followmg : 5x4=20
(a) Inierpational promotion mix

(p)  Test Marketing

(¢) Revelving leter of credu

(@)  Standerdrized advertising

{¢) Physicai disiributior |

trofmfms T waA fwfow fAfew
(31) e TEga fmum

~

(A; T fega

EIEREE

(3-05)1.-12072 P.T.O.



Explain vartous components of international marketing
environment. s
FEE T maE % we oaei o ow s

HIfTT |

What do you mecan by product planming 1 Intermatonal
marketing 7 Explain the fhetors o be considered in
designing products for forign markets, T+8=15
FAILA faam F s e w o wn oweew ¥
oot wem ¥ wmm fowmm ow oy faeofER oad

. .

oA K @A

."’“l"

Explain the main branding policies and stratcgies in

international marketing. i3

Explain the various methods of personal selling in

L

international marketing. 1

Explain the pavment mechanis in internationzl (rade

N

transactions. 1
SR S I e e M fafi =
HEART | ba

L-12072 2

What Jdo you mean by international advertising 7 How
mteinational advertising is different from  domestic
advertising ? 5+10=15

AR L S o TR MR B~ s A > 1 = 1= < s - S~ =yt =y

=

faorm

Explam the mam pricing policics that can be adopted n
mternational markets. !
T AT § w3 9 and A s
FoAvR FifEm

What is the need for foreign selling agent in international
marketing 7 What factors should be considered while
appointing foreign sclling agent ? 7r8=15
fram | fael faws o= w3 o
T OE e A vEr oam § 2

(3-05)1.-12072 3 15,900



ROIENO. i Total Pages : 03

BCQ/A-16 12073

FOREIGN EXCHANGE MANAGEMENT

BC-606 (Opt. Group-{)
Finance and Taxation

Time : Three Hours} . [Maximum Marks : 80

Note :

1. {a)

(b)

(c)

(2-113 L.

Attemnt Five questions in all. Q. No. 1 1s compulsory.
Attempt Jour questions from the remaining eight
questions.

F ate e w 3R Afsw oW Aen 1 e

by

TNy a3 oy § 9 fes ww o F1 IW SN
Explain fixed exchange rate and flexible exchange
rate.

frep fofmrg &7 g ==wh fafm = w1 =wem
Cari

- What is the need of determining exchange rate 7
fafraT = % fumm & ® gETIEd § 7
What do  you  mean by current  account
transactions

S ERE i I e I R C i s S
What do you undersiand by Foreign Exchange
Risk 7 _

.

S9ESi THEIPT AT W AT ®n A9 € 7

-12073 P.T.O.



)

(e) . What do you mean by “Currency Swap™ “
) 5x4=20
g EY (SRR ) WA T A & 2

What do vou understand by Foreign Exchange ? Discuss
the need and scope of foreign exchange. 15

ﬁﬂﬁ%@%ﬂ%wwﬁmﬁw@?ﬁﬂ
TS A FEeE & AvH FSU |

What is Exchange Rate ? Critically explain “Purchasing
power Parity” theory of exchange rate determination. 15
%ﬂﬁﬁwwmﬁﬂﬁﬂvgﬁ_.ﬂﬂw&
T fogr & e i |

Explain Currency Conventibility in India. Also explain its
advantages and drawbacks. 15
g § m W@ @ emen AT | THH T
S o 1 I B o AL L

Explain main provisions of Foreign Exchange Management
Act (FEMA) 1999. 15
et fafrgm werem R (%) 1999 e
qENE W R HA |

What do you mean by Foreign Exchange Exposures ?

Explain various types of foreign exchange eXposurcs. 15

%Wﬂﬂ%ﬂﬁ%ﬂv@%mﬁ%wM
%%%A%W%Qﬁuﬂ&%
el HIAT |

L-12073 2

7.

(2-11) L-12073

Write notes on the following @

(i) Powers of RBI to issue directions to an Authorised
person under FEMA, 1999 8

(i) How is exchange rate determined in fndia ?

trofafeg W fewfal fafem -

q) W lowy ® e AR =fqg w9 H
i St % e § fod S # wtwed

s = w1 o@wa feifE e ST

(n) ¥&@ H
7

Explain the main functions of International Monetary F uid
{IMF). Explain the role of IMF 1n the growth of developing
cOUNLrres. 15
said qm wm ® gE AT W A
ﬁﬁ&ﬁmﬂﬂdﬁjﬂaﬁﬁg%ﬁyﬂn%ﬁ
e ¥ 7

What do you mean by Special Drawing Rights (SDRs) ?

Explain the benclits of SDRs to member counties of

IMF-. 15

Ty eI AfHER Amcxanﬁaﬁﬁdiﬁa 27
%@%ﬂﬁﬁﬁ%ﬂm@%%

-

afgEr (SDRs) & &1 @M F 0

]

3,400




5. What 1s Internet 7 What arc the hardware and software
requirement of Internet ? Explain various applications of

Internet. 12

6. What 1s e-Commerce 7?7 What are its elements ?
Differentiate between Traditional Commerce and e-

Comimerce. ' . 12

7. (a) What 1s meant ‘c% ISDN ? What are the features

and advantages of ISDN ? 7
(b) Differentiate between Narrowband ISDN and
Broadband ISDN. 5

8.  Write short notes on the following -

(a) ec-Business

(b) Opera
(¢) EFT
(d) ATM. 4x3=12

9. (a) Explain, how microwave system can be used for
communication between two distant objects ? 6

(b)  What do you mean by electronic payment system ?
What are its features ? 6

L-12085 2 1,110

RoH No. e, Total Pages : 02

BCQ/A-16 12085
ADVANCED COMPUTER APPLICATIONS
BC(Voc.)-605
Computer Application

Time : Three Hours] [Maximum Marks : 60

Note :  Attempt Five questions in all. 9. No. 1 is compulsory.
(Compulsery Question)

1. (a) What do you mean by search engine ? Name any
rwo popular search engines.
(b)  What is Web page ?
(¢}  Write a short note on IRC ?
(d) Difference between Smart Card and Credit Card,
{e)  Write a short note on BISDN.
(f)  What is Mozila Firefox. - 6x2=12

2. What do you mean by TCP/IP Model ? Explain its various
layers with features. 12

3. What is WAN and what are its features ? Differentiate
between LAN and WAN. 12

4. Write short notes on the following :

(a) Fibre Optics

(b) Co-axial Cable .

(c) Ring Topology. 12
(2-11) 1.-12085 P.T.O.
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Roll x¢

AN DRSS

func : Vhres Hours) [Maximum Marks - 60

Netz o {3 No lis compuisary. Siudents are reg

Jowr guesiions from remaining

questions camy equal mueks.
LER I W
TEH T D e o @ s

<

2L omE owel ¥ % ww osar

Lo Compulsory Question - Attemnpl any fonr cues

-

(a) - Differentiste between black box and
. testing.

(&) Discuss concept of MIS and D88 which differentiate
them.

(¢)  Differentiate between DFD and DD.

(d) Discuss the fob responsibilitics and duties of D
manager.

(e} Differéntiate between physical and abstracr sysiem.

(). Discuss its advantages and disadvantages {ur

requirements gathering, 3x4=12

(3-18) L-12086 - [ 983



CuTEEE @R

falV Wl WMER AW

ray WS el DRY

m\m,‘,“ 1 OHTE

SAIEERTT Y T W OH Vot

Wihat 18 SDLOC Y What is the need of System Analysis 7

.

[

Exphin the role uf Systom Analyst 7 {2

WL e

SO M # ¢ TEEm uATHATEE )
rAfepE W iR HEEl

3. What is a form design ? Give the various types of forms.
i2
fraigd w0 ¢ 7 W & fafim wew ey

4. Define a system. What are the elements of w svstem K

Compare Open .and Closed System. 1z

fomm ) wfenw G | fawR # oa@ o § 7 AW
au FAve fomm & gom FfEw

112086 . 2

L
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e N
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BCQ/M-16 12087

OMSP : COMPUTER APPLICATION (Part A)
BC-605
Theory

Time : Three Hours] [Maximum Marks : 70

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
In addition to Q. No. 1. attempt four more questions.
All questions carry equal marks.
FF O Y # IW GNU | e gem 1 stfverd
T YW W 1 % s W) S WER HIT |
vt Al # o guH F

1. (a) How can computers be helpful in business ?
F H WM AE Y FH OWERTR % 2
(b) Name any four storage devices.
=l o =RS feargl & W wEEg |
(c} Name various types of printers.
fafig fy=t # R ® W FaEw |
(d) Defline computer.

FAAE & aftare Ffew |

(2-13) 1.-12087 P.T.O.



() Name any four services available on intemnet.
T=rT W Iuee TR | ganstl & 9 i |
(f)  Differentiate between Save and Save as commands.

14

-

Save I Save as HAE] § AL HIET |

2. (a) Explain the procedure to insert a table in MS-
Word. Also explain various options available while
inserting a table. 7
MS-Word B T 29d THZ & ®1 WHA Saed |
o T F wEg W fafes sfers SeeEd B
T 3YH] oATE WIS |
(h)  Explain the procedure to insert headers and footers
in MS-Word. Also describe the purpose of using
headers and footers. 7
MS-Word H zed aul mﬂﬂ T F W Ul
AT | FeH qu wed % WM w % Igeed A
AR |
3. Explain the main features of MS-Excel. Also explain the
steps and commands with the help of a suitable example
to create and save a work-sheet in MS-Excel. 14
MS-Excel Ft pLtel E.mﬁmﬂ. aad | MS-Excel o &
work-sheet F save FH dd Tz ®H & HYA T
FawE 3fod I|E wWEd FdE |
1.-12087 2

4.

Explain various types of classifications of computer. Also
discuss major features of cach type of computer in detail.

14
Frgm % fafas GER W aiE B | TEE FER
& Froe w wge fevmmet w1 o fawr | o

Explain the following DOS commands. Also tell whether

the command is external or internat : 14
(1)  Chdir

(i) CLS

(iii) Del

(iv) Diskcopy

(v} CopyCon

(vi) More

(vii) Scandisk.

frefefgs DOS &AW ®1 9vF FifFw | 919 € AT
ff Ry fE wHve d@ € M AR

(i) Chdir
(i) CLS
(i) Del

(iv) Diskcopy
(v) CopyCon
(vi) More

(vil) Scandisk.

(2-13)1.-12087 3 P.T.O.



6.

How can you perform the following in LINUX ?
(1}  Changing file permissions

(i1)  Viewing list of all files and directories

{(i1) Creating a file

(iv) Deleting a file

(v) Creating a directory

(vi) Viewing the contents of a file

(vii) Sorting a file. i

freafafes &1 wesi oM LINUX A 9 %891 0
() THEA TEYHE H Uil e

(i) |Ft wEeAl T TEROS F fae @
(iii) wEaA &2 Fom

(iv) R T

(v) TEEY fEge &

(vi) TF FEA H gua-mg @

(vil) TF WA H BleA |

7. (a) Qive a computer configuration of a latest computer.
Also specify why this configuration is required. 7
T FE & FHEE G0RT | 70 IR
# AEYTRS F OBl B 7 TR

{b) Describe various printing, saving and formatting

commands in MS-PowerPoint. -
MS-PowerPoint ¥ 39— &R &1 fifen, gfam =+
T wAvEl # v iU

L.-12087 4

Differentiate between the tollowing :

(i) RAM and ROM
(ity Computer and Calculator

(iii) Primary and Secondary Memory. 14

Crafafaa d @ TAET

()  RAM @ ROM

iy HEI AW ﬂmﬁmﬂ
(i) WEEl 9| fedrer T

How are PC. Laptops and Mobiles used for computing ?

L n_
Explain features of each in brief. 1

%%?@wn;%ﬂamgﬁﬁaﬂ%@ﬁzg

ﬂawwﬂﬂﬂ%%dﬁﬁ%_

*h

(2-13) L-12087
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BCQ/M-16 12088

PROPERTY AND LIABILITY INSURANCE

BC(VOC.)-605

Time : Three Hours) | [Maximum Marks : 80

Note

L.

Attempt Frve questions 1n atl. Q. No. 1 15 compulsory
and 1ts cach part carries 4 marks. Altempt any four
guestions {rom the remaining questions. Each question
carrtes 15 marks. The length of cach guestion should
not exceed SIX pages.

FA OWE WA F T AT 1 9w e 1 erar
m,_ﬂuﬂﬂﬂﬁgﬁw_mﬂmﬂ;ﬁlg@ﬂ

~

W TV F 3IW ATEU | g WYd 15 3Rl w7 |
TOR T W OIW O gl " oafuwm 7 o8|

Explain/answer the following upto one page each :

(a)
(b}
(¢)
(d)
(e)

Insurance problems of clubs
Errors and Omission insurance
Limits on amount of insurance
Claim compensation

Survey of losses.

THF OF OUF TR OH I e .

FoEl w oA wEEd

SIS PO



(F) Al s gw T

(m) smr = e w o
(2) T HITEst

(3) e &1 wdew |

2. Describe the msurance problems of educational institutions.
Wk s F AW oS w1 oAve Fif

3. What do you know about the following, Explain
(a}  Professional Liability Insurance
(b) Accountants Liability Insurance.
frafafes @ s =0 wAew €, wol wifsw .
(31} eH@Ewtas sfaEm i
(F) THEER e S|

4. Discuss the process of ‘Marketing and Underwriting’ of
Liability Insurance.
ofoes @ o o wen s e s avH
a—

5. Explain the nature of losses and procedure of their
adjustments.
T F WA dN ITAH THENA F AEF FT OFUA
EnEng

6. Elaborate the procedure for preparing claim settlements ?
What are the documents used in claim settiement in
liabilitv and property insurance ? Explain.

L.-12088 2

T fwem #1 dr % fem wfem = oavl wifwe
=fyes dun wwofa & W T fAem ¥ oygs s

&

FH-HBAG 7 7 AN FifAU

What do you know about the statutory control over
liability insurance in India ? Bring out the main provisions
of regulation of hability and properly insurance.

arA | =P A v gwifiw fEEm W 9w 9 wesm
€ 7 fr & fgms g wwfy 4w % wqE wEuE

Describe icatures and merits of various hability msurance
policies run by General Insurance Corporation of India.
g wE ' fmogm "ere s @ fafes
g A AifdEl w1 faweaen qen ol w Ao
FfT | |

Write notes on the following upto three pages length
each .

{a) Responsibihities of loss adjusters in insurance

(b) Apportionment and Loss Valuation,

frafafes w d9-d7 o9 H fewfei fafem .
() @M A JFEH WEEES & age

(%) W9eE de1 B9 oA |

(2-15) L-12088 3 _ 500



Clotal Pages 03

BCQ/A-16 - 12089
PPl
BC-606
Group Insurance and Retirement
Benefits Scheme-17

Time @ hree Hours | . IMaximum Marks @ 3¢

Note . » ve questions in all. Q. No. | s compuise
Al questions carry cquai marks.
T TR UV F aer (A s te2t i e it

L)

. Explain the following

()

Linked losurarnce

Schame

S¢owith lax

S S

(2-113 F {208y PT.A).
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77 T 49 2

wamine the varous

el o

Explain the important leatures of an ideal system of Data

Processing {or computing 1 tirement package Lo the

employees. 15

the main objectives o Group Insurance
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BCQ/A-16 12090

ASPSM : MANAGEMENT OF SAELS FORCE
BC-605

Time : Three Hours] {Maximum Marks : 80

Note :

Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.

FA T AT & IW A | W gem 1 AfEd
ToEd W @ %% WA E |

1. Compulsory Question : Explain the following :

(a)
(b)
(c)
(d)
(c)

Market Analysis

Importance of Sales Budget
Principles of Setting Sales Qoata
Importance of Sales Territory

Features of good forecasting method. 5x4

sfEd w9 . fafafes =t s men wifbe .
(H) FR faveyo

(7) faka a92 +1 m_H

(@) fowa we-framm & fagm

(=) faFa a3 =1 o .

(z) or=g1 EAA fafs #1 fEowad

(3-16) L-12090 . P.T.O.



Define sales force planning. Also describe nced and

importance of sales force planning. 15

fawg ufe faem =t ofmw Sfsm 1 faa e
g &1 snEviaEal 99 Heww &1 fadsa wifda |

What are the uses of sales budget ? How is it prepared ?
15
fawa oo & WM = F 7 W HE =T A 8 7

Why is it necessary to fix sales quotas ? What are the

difficulties which may arise in fixing sales quotas ? 15

faFa ® F1 fyuion = smavaw &7 AwE @
% frufoor § =+ wfeRA o € 2

Define sales territory. Explain different methods of

allocating sales torritories. 15
fora &3 = ufnie s 1 fawa o ® Seam
=1 fafy= fafiei =t == =g

What is sales forecasting 7 How 1s it done for the total
market of the product ? 15
fows @EmE =0 2 ? W SR % ¥F AR #
fod 98 o 8 @mE W g 7

Define the concept of sales and cost analysis. Explain its
methods. 15
fawmg ud o faveww uwon =t gftam <if9g | TEwy
fafeml =t =g wifsw |

L-12090 2

How ethical considerations are important ‘in sales force

management ? Explain. 15

fora o waw § ifod 9@ fem gwrR 9 wEw
g 7 =mem & |

What 15 Sales Planning ? Explain steps involved in sales
planning. 15
fosra A wm % 2 fawa fEmem iR ow fafe
TN H AN RIS

(3-16) L-12090 3 250
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BCQ/A-16 12091
ASPSM
SALES PROMOTION AND PUBLIC
RELATIONS-II
BC-606

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Atiempt Four more questions
from the remaining eight questions.
T T 1 e € 0 9w sme e H g % W

e #R Ry

1.  Compulsory Question :
(1) Sales Promotion Programmes 4
(i1)  Publicity ‘ 4
{(11) Advertisement 4
(1iv) Marketing. 4
(v) Public-Service Activities. 4
AEE g
() Toma wEs wTEw
(i) WEIR
(i) fa=mo
(ivy Ta9mA
(v) vH-ga fFam

(2-10) L-12091 P.T.O.



2. How are public-relations tools used in the marketing ?
Explain with the help of suitable examples. 15
TT-wo R @ fuvm ¥ B9 swEm fEm S
2 7 3fm sEmel # mema vl wifm o

3. Explain the concept of public-relation. Also explain the
importance of public relation. 15
TA-HEE AU H AVR FIGU | e TEw wOff
g Fifsu |

4. Explain in detail the various local aspects of sales
promotion. 15
foFa dadm = fafu= o Tmge w1 fawrgEs
U HIST |

5. Discuss the planning and development of sales promotion
programmes. 15
fapa Hays wEEd & faeE o fFFw & s oo
HHATRT |

6. What is the relationship of public relation and publicity 7
Explain the similarities of both. 15
ITEOE US WEE § S W g 7w i wEmded
H GUF wifEm

L-12091 2

7.

Write detailed notes on the following :

(1)  Audio-Visual Media TV
(11) Press-Releases. 7Y
Frefafen m frem fratml fafan

(iy #H=9-399 HEH

(i) w° =&

Write detailed notes on the following :

(1) News T
(i1)  Handouts and Leaflets. . 7%
frefefas W fomm el fafan

(1y HHER

(i) ToHoz-amft |re qen oftwelem |

“Public relations, sales-promotion and marketing are
interrelated.” Justify this statement. 15
TR, fAEY WANT [ W UE gE ¥ Tt
T 1" T FoR wm AfEd SET |

(2-10) 1.-12091 3 250



ROHNO. v, Total Pages ¢ 67
BCQ/M-16 12092
E-COMNMERCE
BEC-T (BC-o001
income Tax-1]

frme o Three Hours| | Maxiowm Marks ¢ 86

Note o Attempt Five que

)N b s compulsory,

Attempt jorr guestions out of remaining crell guestions,

Al questions cany eguat marks.

A gy 99 7 3 qEn 1 A

e

| Y19 S YA ool THT S

'

T wvAl R S% TH3

1. (i} State the provisions pegurding set and carry
forward of capitat Tosses, 3
vt owfa @ ufd ow v owm o= a7 e
I i T B B S e

(i) Wha

P iy o
T offmsy ad chas (HUF) 7oPn wmEs 77

o veu mean by THEE 7 3

(i) Inowhat circumisiances Best Judgement Assessment”

can be ::Ec -3

e

(2-1in L-17092 PO,
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wvE & Hreg 7 faed wm

EE I G b e o

FAT R xt, FYEE CETH ¥ | w1 Iadl A oy

EOWYTH A 7L IEME TR oAd W 9smE &m gy
TEF F oFT W T 2e00 U fagmr o oAz fEow

mEA W 1A 2 Taesn famen ¥ oogn WA owE RO 39ET
G I G A

() =R dgR ogEA aEE T wd 000 3
(i) UF % H F=4 AR T @S S0 F

THY T ET WL AT AT 0014 05 1 F AP HE
EORILIC I 3 1 1

5. Ram. Shyvam and Mohan are parmners oo lirm sharing
profit and loss cqually. The firm in the provious vear has
incurred a net loss ot T75.000 after deduction of
the following -

(1Y Intersst on capital o 20%0 0 Ram € 8000 Shyam
T 7.0686: Mehan-3 900,

(i Salany to Ram. Nhvam and Mohan 3 26,000 cach.

(i) Borus te Ram and Sl © #0000 cach,

{ivy Comnusston to Afohan § 3,006

(vi  Donavon o Prame Minister Drought Reliel Fund
< 10.000.

(viy  Depreciation on assets T 530,000 (allowed 3 60,0003

(vii) Income Tax ¥ 3000

(virl) Sales Tax ¥ 3.000

(ix} General Reserve 3 75.000
’ , *

L-12092 4

f

(x) - The Profit and Foss A'c includes the following

HICOICS

ta) - Capital Gain

Fong term & 1000w
Short term R RAATY

(h)  Export camings {530,000
Compute the taxable mncome of the fimn. The firm fulfills

the conditions of See. 184 16

i

W, A AP WEs v FH 8 am ow

oAt Y ER {73000 F WE o SaE oA

feafatrq w0 F TEET 77

Gy 20n FT T OWOUF W wTH MM ?§.060, vy
T 7000, "HEAE 9,000

(i)  AGH-TH, AW S HEA ® 2 20.000 wE urEep

T odr v #w A 210000, 764

(iv) HEA & FHEE T 2000 .

(v)  THIAES TE OTRA RN OH TA T 10.000

g gM T 50000 (F=ET T 60.000)
i) IEET 5,000

(i) rEE ETF5.000
(ix}) HHF wE T 15000

{2-1) L-12092 5 . P.T.O.
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The Actuals which have emerged {rom business operation

are as follow

Production §.000 untts

Z_m.ﬁlm_ consumed-—16500 kg. @ Rs. 2.40

per kg. Rs. 39.600

Wages paid—1800 hours /@ Re. 0.40 per hr. Rs. 7.200
Rs. 46.800

Calculate Appropriate Material and I.abour Variances. 16

T IWE & foau yofod oiva w2 faefafaa =i
T

et S 2 TR @ 2.50 % wfa T 5.00 =
TSI 2 " i 0.50 % wfd =2 1.00 %
6.00 %.

grafashad 9 97 T® AR B I 5% 7 e uET F
I 8.000 3FTTA
HIgdl @IA-16300 T, @) Rs. 2.40 wfa fwu1. 39.600 =
AL YTaE- 1800 H ¢ 0.40 Ffa = 7.200 7.

46.800 ¥.
IOHE HHW qM %9 FE F A9 ifaw |

L-12093 8 3.800

Roll No. e Total Pages - 45
~BCQ/M-16 12091
. COST ACCOUNTING-II
BC-602 ’

Time : Three Hours) [Maximum Magvs D85
Note : Attempt Five questions in all. Q. No. T s computsory.
All questions carry equal marks.
F O WA F 3 dfAu 1T wwE e | sheard

Boomd ogen 4w mme ¥
1. Compulsary question
ta)  What is Contract [edger 7
(by  What is Normal Wastage ? Explain its accounting
treatment.
(c)  What are the objects of transport costing 7
(d)  Explain the managerial utilitv of contribution

(¢)  What 1s Budgctary Control ?

(f)  Explam the causes of labour cost variange. 16
sfrard gv=

(31) =TAS AR PN OE 7

(&) TE TAE T OE 7 THe AR TV AAE |

(@) wfEes &M = 3gRvg oFm E 7
(2) AMEA F FATHEE ST AT

(3) =we@ fvEu #1 2 7
(%) a1 AE A F s w1 snen At |

(2-10) L-12093 P.T.O.



M:s Jain & Sons in a firm of Govt, contractors. It took
a contract for Rs. 5.00.000 on st Jan.. 2010 and incurred

the following expenses on it upto 31st Dec. 2010

Rs,
Material Purchased 62,300
Material issued from store 43,000
Plant issued . 30.000
Wages paid 63.000
Outstanding Wage 14,500
Office xpenses 10.500

.

Cash recerved upto 31st Dec. 2010 amounted 1o Rs.
210,000 being 73% ot the work certified. Materials valued
Rs. 6.000 and plant costing Rs. 3,000 were destroved due

to fire in the depot. On 31st Dec.. 2010 plant costing Rs.

=

5.000. returned to store o & material costing Rs. 3.000
were sold for Rs.o 8000, The cost of work done but
uncertified was Rs. 15,000, Material at site was valued at
Rs. 8.000.

Charge depreciation @ 10% on plant. Reserve b of profit
recetved, transter ¥ ol profit received o P & T A ¢ and
prepare Contract Account. Also prepare Work-in-progress

and Balance Shest, 16

L-12093 2

g §F urr wW WM wd § 3%en € 1 3=h
I SHEd 2010 FOS,00,000 B H TH SR formn aWi
3 femy, 2010 9% 39 W fA wEwR wd few

. ’ +.
Hefl B 62.500
=R 9 Al e & 45,000
49 9H f&u 30.000
T G 65.C00
qFHME T 14.500
AfFA =9 10.500

31 fegme, 2010 FF 210000 % F THE WG 1
SOy e mT 75% ot | fewr F 6000 ® &Y
rEW A 000 B % T3 AW H H TR B O |
31 fomar, 2010 &t 5000 T F OEET WR OH AR
fegr A9 5000 F H AW x000 5 OH w9 | fF5A
T HMA ! FMTE YR SYEIUE 15,000 F | WEE W
A 8000 F.OWH ARl MR

Hdd 9 0% F T " BE G TH | /4 G99 H
WY g, WM W 34 FNWens @ H gEard gen
AU AN W dAR FfWw | &@ Wi o awn e
T I |

{2-10) 1.-12093 3 P.T.O.



The preduct of a company passes through three distinet
POCLSSCS Lo n:_:b_m:c:. They are known as A, B and (.
From the past experience. it is ascertained that wastage is
meurred 1 each process as under

Process A 2%. Process B 3%, Process C 10%

iocach case the pereentage of wastage is computed on
the numbc - of units entering the process concerned. The
wastage of cach process possesses a scrap value. The
wastage of process A and B is sold at Rs. 5 per 100 units
and that of process C at Rs. 20 per 100 units.

The output of each process passes immediately to the
next proeess and the finished units are passed from process
(" into stock.

The following information is obtained

Process A Process B Process C

Rs. Rs. Rs.
Material Consumed 6.000 4.000 2.000
Direct Labour 8.000 6.000 3.000
Manufacturing Exps,  1.000 1.000 1.500

20,000 units have been issued to process A at a cost of
Rs. 10,000, The output of each process has been as
under : Process A 19.500: Process B 18.800: Process C
16.000. There is no work-in-progress in any process

Prepare Process Account and calculation should be made

to the nearest rupee. 16

L-12093 4

UFk FEA 7 IR QW AW & fou @9 fafes whwemst
# W\ fem 13 A B wm CE | fEd gqaa W
T T R TR g ufwm & qed stuemm W owER
oA A 2%, WEW B 5%. @A C 10% |
RN A HERE Al # wEe # gen W oyas
frafd & woem = dfawm & o wOE | yew
I W FGST BPU oA B WEW A @ B &
AIHT GIE 100 THEERA W S E Y A= nam A
UFEN C OISR 100 TR W 20 F W A= m
Y= UE w O qra anrelt wheAr W 9w fae
T oAU yu 3E Tl Wew ¢ 9 w=iEw ¥ oum &t
R
frefafias g=m wa g .

ufkar A wfemr B wfwan ¢

T % T
HEI HT T 6.000 4.000 2.000
T E Y 8.000 6.000 3.000
fafamh = 1.000 1.000 1.500

oo ® F EME F WRE A W 20,000 IHTEEl
fifse =1 T 4 veEw wfEw &1 fom fim wwn 3.
fF A 19.500; fE B 18.800: 9fFan C 16.000 |
fodt o wfen 4 wE wife 4 2

TiE = dan wifau qen feeam wwm @ TR =
T =T .

What is Operating Costing ? Explain. how costs of services
provide by the transport organisations are determined
16
_ SUBES I SV R IR e B
ﬁﬁﬁ%ﬁﬁ%@@&ﬁ@ﬂﬂébw

(2-10) L-12093 5 Pd.0.
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What do vou mean by Non-integ

Journalise the {ransaction reg

rated Accounting SYsem N

arding material, jabour and

overheads 1n Cost Accounts. 16

%\%m@aﬂﬁ%mﬁﬂnﬁwwg,ﬁ
ey sfrEn B WG ST i ) @ @ | fefet
HiTed, |

How is marginal costing useful

arious managerial problems ” 16

%ﬁ%ﬂ,i_ PEESCAL)

Define Marginal Costing.
for solving v
Sarg | R
ens @ geEn A A A
z 7 |

There are two plants under the same management. The

management wishes to merge these o plants and 1o run

them as an integratcd plant. The following particulars are
made available
Plant 1 Plant 1}

60% 100%

Capacity inaperation
3.00.000

1.20.000
9(.000 2.20.000

40,000

Sales (Rs.)

Vvariable Cost (Rs.)
Fixed Cost {Rs.) 25,000
YVou are required 10 stalc

(y  What would be the capacity
9

of merged plant 10 be

operated for break-cven
(i What would be profitalfility on working at 73% of
the integrated capacity
(i) What turnovet would give

Rs. 60.000.

9

16

L-12093

an overall profit ol

F TH TTS F .
o Uk T A AR £ e

T IS 7 - " T
i el |
] E -
o THA] 6030
fawr (7 :

P
U Iodq45ii—- 7= ﬁ

pERI |

1 (3)07%
120,000 300,000
2.20.000

40.000

|

_ - {1000
frep == 5
AgE] FEE T

23.000

) TR F f oy owen 6 fae v w
| e AT BT 7 n T
I Jlnw‘ll.uua: HOAT 1 73%%
= =T
TETOTE g FOE o
= B R - S
= o

8. Define Budg
| :r udgetany Control Fxplain the st fi
mstaliation t e ‘ . r .
: dng assenttals ot collective ,
T ctive budgetary control
T famem = |
i ﬂqg ; fﬂﬁmﬂﬁgm
" , TEET ORI F F:aAl
9. The si
. standard cost card ¢
cost card tor a product shows the followr
: mng
Muaterial cost -2k -
. st -2 Ky Re 230 per hp Rs. 5.00
e -t i 5. 5.0
ges -2 hours @ Reo 0030 per hour R
e 100
Ry 60,00
«2-1) L-12093

PT.C.



9. The tollowing informaiion v

COMDUITY

Capitalisation raic (No)

Farning v Share (Fy = ¥ 8

Catculate the market price of o shore radas

Walter's Madal by assuming o

TRCHET O Ty

(ol {1

23%0, S0%. 3% and 100%,

U FEFE] F WS 0 G
107,
I
AT Hiae E FOIES A LU AT apER e
T T ST

[-12094 ’ 4 3,700
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BCQ/A-16 12094
MANAGEMENT ACCOUNTING AND
FINANCIAT MANAGEMENT-I]
BO-603

Fime : Three Hours

[Maximur Marks @ 8¢

Note o Paper ¢ e risstions inall Question No

Allempt fore questions from the

AT

guestions carsy cdual mark

Ty l.r T A mﬂ_

R TIOWE o v
ey gt o=

FY
i
+
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..i.
-t
3
(3%}
-+
b

e
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h

6.

1.-12694 M

(=) st FJ14

D IS I I S e

() AEPHTT AT

Papiain o deadl the sacwers sdeicrmining

Working Camtal.

he amaunt ol

16

Frgsiier et T wma a warA¥ FIE A wpml Al

famam W =En wmTEn |

Explain cquity shares as a oonree ot long
and give their smeriix and denierits.,
EREACIE B e B S S A o

A TTE T

T

oe el neome Aoproach e 00

el Bt P

gl =

Lerm _z:,_m:ﬁ..ﬁ
16
AvT F] AT

8.

Petey

from the iollowing infenmation

I
0LOEL N
(.00, ()
an FR.O0.000

3000000

e

Weivhted average cost of capital if rate of dividend
s 20% per annunm.

What difference with it make if the current price of
T 100 share 15 3 20007

clffcet of income v on the cost of

fa and (hy shove, o the tax rale s

A G

$
i & 00,000

(3-1hi-

m sy s car =rag N0 GO0
3000 907
Sty oeg THEE FLA AT F

T T uﬂ.mﬂ.ﬁ E Co roFT
d w.u..,
5
Ifr mEo#s 3vn FOAT TE] w9

CAYOHRT WA AEET

PR 3 P.T.0.



RoWNa, Total Pages - 03
BCG/A-16 12095

BUSINESS ENVIRONMENTLT
I Maximuem Marks - 80

CAempE o more questions

SELOT AN questions cam

IR IE A v (o o - e

. ~ s, . N S
AT YT wNET . asf qyel W ofwm ommE ¥

booofas Dhistinguisd boiveon Sociaban aped Copitalisny, 3

<

by tHew is five sear plan document fnalised 3

P

(W What Jo ven mican by inclusive vrowth

Discuss Seee mam international trade o

icr What do vou miean by dinmning 2

o Dhseuss ednes! code of ¢ for mul

COIDOTATIONS, 3
(s nuTEETE

) .qf) u 7]

TR emEd |

£ 2fan wy @ Frw e

(77wt Prea 1 oinmesr gy afegm F 9
wA R AngEl 81 A0 wifEn

(3-1) L-120095 BT,



j v

o

(2) IS T gEy R Tawa ¢

PR TR @ eTe

VTEY AR T i

ERE T

Averunt for wain featnres of stategy of indian planning.

Hoebfe e aehiieve the objectives of
1o

favram s w1 Al
T | osH mpErEn g oww fam W oa® dren W
W wm A s ow F 0 omem safe

pleening wiih this oy

COTATT ey oal

Pxplain the assumptions, obrectives and strategy of Terd
Vive Your Plan , 16

N

FOHHAT sRel g wErey

moAT rgEniy

.ﬁ.ma._nﬂ,_z,.ﬁm%:
What do youwmean by imemational envirenment soplain
VAT Compoiinl: coanstituents of indernaiional cconomic
NIRRT Eaa st

THEE H AW oay ggmd s

s

Crtteatly examine the objectves and prouress of World

Banis. [Deseribe in briet is role in India's eCononic

development, 16

FEg YEowm mwd oA gl @ qpdtearns faaa
FTHEC « oaEEa W il fewm 6 favm s o9 yfehy

1,-.
SISt

e I S M L

T -i2095 b/

Discies the importance of foreign capital in the economic
development of India. What are its disadvantages 7 16
WA F Wi famm § fadit g6 % meey @ vl
A0 TR e omfE ¥ 0

Discuss the main features of -the latest Lxport-Import
Pohicy of India. Expiain the objectives which this pelicy
seeks to achieve. L6
WA F A s Aife F e weei w0 G

T zE A ® e W owwen #ifsw |

Critically  evaluate  the functioning of International

Monetary Fund., 16

Write a detailed note on UNCTAD., 16
FFAE W UF farge foopft fafgm

(3-13) [-12095 3 3,600



8. At present which major Creait Rating awencies are working
in India ? Provide their names, rating areas, rating symbols
and their interpretations. 16
TR HHY TG § wA-SEE Y@l 9Rg e ueifast
FH FL W F ? ITE AR, ITH A0l ® IW, IS
I AR B s B B o

= IS

9. What is meant by Ciede Ratime 7 What aro s features,

YRR

- Es
;,n.mm;u_.wwq er

qEr geiimen 8
B

AR T

Y1209 i

ROl NO. woiirriiirrinrenerens

BCQ/A-16 12096
FINANCIAL MARKET OPERATIONS-il
 Opt-605-(i)

Total Pages : 04

Timae : Three Hours] [Maximum Marks : 30

Note . Attempt [ive questions in all. Q. No. 1 is compulsory.
Attempt four more questions from the remaining sight
questions. All questions camy equal marks.

w7 gta WAl B IO 2T 1 v wem 1| b

-3

5

T UM s N W G uw oim Wy sife e

Te F ofF OEE § O

1.  Answer the following questions in bref :

(1) What is Book-Building ? 3
(by What 1s Price Band ? 3
(¢) Who are Portfolio Consultants ? 25
(d) Functions of SEBL 2%
{e) Eligibility Critenia for Stock Broker. 2
(N Market Makers. 2
(3-83;1-1289 PT.0.
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M

FREAT W R ¥ Y 9 difan
21) ww-fafegn = % 2
(W) wrE-gy oF R 2
(e e e FH A E
tEY »: mw i
(¢) ¥Hd ZERA W OWHA AEROS |
CF oA fwfmo

"What are the major causes of Grievances of Tnvestors 7

What 1s the role of Company Law Board for b redressal

of grievances of Investors ¥ 10,6
P

-

wE] #: REedl & sR-eMg g owm 8 7
venl &1 fowmdl % fremt & few s & A
# s ofawm F 2

N

Write short noles on the SEBI’s Guidelines on the
tellowing : 6,5,5

;

{a}  Issue of Debentures

{b) Issue of Commercial Papers

tcy  Issue of Right Shares,

Fft # fam fdef 9 wmfwm fefafes W s
(A wO ® e

() FffEs g W Fefge

() FwER T wm R

[ 2]

-~

ot be NRIs 7 Bxnlain e SEBIs

RO FERL crest Ajrs oy the veners' code of
ConoinD ot a0 N ke 5.8
TEY ¥ oo w5 T OREYE TET o urmy s

TOUOTG S T T o owrme spmn wiear oo e |

What de vou meusn by Morchast Banking 7 Piplais the

role plaved by ne Merchant Bankers. Desernbe -he code

)

of conduct provided the SFBI related to Merchart Bankers.

4
i
i\
Bl
i
ER
el
[
JEH
eS|
)
4
A
s
o
-
I
i
£
s
4

viwss fma ¥ ¢ owdw SEY o8 no md ouo e
Heer w oA e wfaw o

Who are Merchrnt ankers 7 State the Genera! O gations

and Hesoansibiiines of NMoichany Bankers. 4,66
b G - - ha * o, . ~

T2 &% § T 7w dwmy o wmw ofmm

(3133 L-1200, AR & 3



ROH NO. eererrevvesrmseneees | Total Pages : 03

BCQ/M-16 12100
ADVERTISING AND SALES
MANAGEMENT
Option-V
BC-605
Time : Three Hours) [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
wo arer yvA & I AR oy Hen st
0 owsd gl ® o wEA E

(Compulsoery Question)
( tfrard g9 )

1. Short answer question :
(i) Importance of Media Planning
(iiy AIDAS Theory of selling
(ii1} Departments of sales oﬁmm,:mmm:o:
(iv) Reasons of client turnover
(v) Methods of controlling sales-force.
(vi) FEthical aspects of Advertising.
frefafer = wfge s @faw -
(iy Hifzen fioreA =1 A@ed
(i) fawm w1 AIDAS 9

(3-05) L-12100 P.1.0.



Fen gy &1 9O

i) fawa wmed & faum

Gv) el g mes migd o FEO
(v) FEa-ufe w4 S

(vi} fasre % Afqs e |

What do you mean by Advertising ageney Explain the
various functions performed by advertising agency.

o TS § s e wwsd ¥ 7 fawrm weed g
fgq =4 g HA i FNH G AC |

What do you mean by advertising effectiveness 7 Discuss

the various methods of measuring advertising effectiveness.
famgd #1 gERaERa 4 @@ sfwaa @ 2 A
gEEEET ®  qewiFd W A= fafwn o A
#fr 1

Write a detailed note on fcgal provisions regulating
advertising.

farm B fafae e F Auifw weem w1 fawgs
=l HIfE | .

What do you mean by Sales Management 7 Explain the
functions and duties of sales munager.

fre was w1 ufonhE SIfET & fAwd vEWE ® wE

i-12100 ?

What do vou understand by sclection of sales-force ?
Explain various stages involved in the selection of sales
force.

faFa wfs & = & e s sfawm 2?7 fawd
i & T ° ol F TS HS |

“Motivation is an mmmm::m_ ingredient of any sales
organisation.” Fxplain various methods to motivate the
salcs-force.

Sfrd o famd HTed H oshiRe w ositrerd o= B
fagg wiw sfwion &1 fafg=t fafed @1 vk wiEw )

What is sales budget. What are the various methods of
determining the sales budget.

famg uwe Fm & 7 fawy wwe fuiu € fafas
faferal 1 gvd HITeE

Write detailed notes on the following :
{a) Sales Quota

(b) Sales Territories

ffatem W famga fewbri  foafay
(%) Toa =

(7) fawa &1 |

.

(3-05; L-12160 z 2,800



ROHNo. oot Total Pages : 03

BCQ/M-16 12101
ESSENTIALS OF E-COMMERCE-11
Option—vi

BC-605-(vi)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
FA U™ W F IW AT oy wew 1 e
g omf gl # o wEm §

1. (a) How is internet based EDI different from traditional

EDI ?

(b) What is cyber crime ?

(¢) Name a few emerging business models in India and
explain any one in brief,

(d) Who are the participants in a secure electronic
transaction ?

(e) Discuss the potential of e-Commerce in India.

(f)  Explain the legal aspects of e-Commerce.
(¥1) 3=0fe M EDI WP EDI 0 f&a yam fim
g7
(4) TR HEH F E 2
(3-05)1.-12101 P.T.O.



(F) 9@ H #® IWd gL @R died F AW wifhg
gon fedt e w1 dew F vl wifsm

(7) gl ot o & 9ieR 3 & 2

(3) 9@ ¥ wd & defam & ool witwg

(%) T Hmd & Al TREed W avlr wifsg

2. What do you understand by B2B ? Discuss various
marketing issucs in B2B e-Commerce.
B2B ¥ @y = TWEW ¥ ? B2B i-wmd W fafus
fam T w1 avia wifsw

3. Explain various architectural models of B2B e-Commerce
along with their characteristics.
B2B I-wmd = fafy= onfacs=ma wisa @1 3wt
favrmmen & Wy avR Ffsw |

4, What do you mean by cyber laws 7 Explain the features
of IT Act, 2000.
TR FEA W ST OTHER £ 7 M. 9 W, 2000
F1 favyaet w0 == wifsw

5. What 1s EDI 7 Discuss various issues related to EDI
Also explain major applications of EDI
EDI #n 2 ? EDI ¥ wafyd fafe= g&f = ==
FITT | EDI & W@ @A H1 off saEy |

6. What are various Internet security issucs i ¢ -Commerce
tEmd U Tere g ® fafvm g owm €0

1.-12101 2

Discuss various ways to get an internet connection along

with pros and cons of each.
T FARH o1 % fau fafvm qlsd w gl ges
F ee-zfa Afee =ifwn |

Explaim made-to—-order manufacturing models and do-it-

yourscll model in detail.
#E gm i 53 W8 9 gigdl dw o= fEm
fFg 9m a Aew w1 fawm s wifsw |

What 15 the purpose of using hybrid models 7 Discuss
few emerging hybrid models.

TEfgE A & WA H 4 SEEYE ? 7 %@ WA
TU TEWE oed w1 avH wifsw

(3-05) L-12101 3 600



What s the mecaning ol data processing relating to

calculation and payment of post retirement benefits ! ROl NO. v, Total Pages : 04
m_.‘.xz__»:: its features and importance 15 BCQ/M-16 _N——N
A 9v=1d =l F WA UH O SEEM R AT 3 " ey s _ - - R
A i GROUP INSURANCE AND RETIREMENT
TR UEET w1 o @Y ¥ ¢ ozud) faviasn o omee= , . .
. T o | BENEFIT SCHEME-II.
] dUH .mE. i

BC-606(VOC)

Time : Three Hours] [Maximum Marks : 80

Note - Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
FA e ww # IW A | WA e 1 oo
g rEd WA ® ok omEE €

Unit I

TETE |

1. Explain the following in brief :
{a)  Recogmised Provident Fund
{b) Statutory Provident Fund
{c) Group .Ew:ﬁmzoo
{d) Leave Travel Concession
(e)  Voluntary Retirement Scheme

(f)y Pension.

1-12112 4 300 (3-19) L-12112 P.T.O.



fr=fifem =1 dem o sem wfm .
(31) ymfg sfa= fafy

(%) awtrw afrs iy

(F) wHiee =

(%) A= o frama

(3) Uf=* s=®w w0 @

(%) 995 | 3.3.3.3.2.2=16

2. What do you mean by Provident Fund ? What are the
different types of provident fund ? 16
afaw My A s g s @ 0 wfaws ity @
fafr= y@r ®H-wm § 7

3. What is meant by family pension ? Explain the features
of family pension. 16
it v w o owd € 7 ofenfe dvm
fereromatt 1 = wifsu

4. What do you mean by deposit linked insurance scheme ?
Explain its features and importance. 16
T el A oA w owrww w o ofywg £ cEm
T UA WETd H OSEN HIAT |

5. What is meant by encashment of eamed leave ? What are
the conditions to be fulfilled for claiming the encashment
of earned leave ? 16

1.-12112 2

0.

ASE sEEY F TR THE SPER W ow A f
M FEEY F ARE TR SRR WW W % fou

X

What are the features of Group Insurance ? Desceribe the
Group Insurance Schemes of SBI Life and LIC. 16
wMfe dim w1 oFn favmard # 7 SBI Life wen LIC
F W dm A W i R

What do you mean by death-cum-retirement gratuity

Discuss its features and types. 16

5

I-FR-Haats Teqd ¥ o F sifqyg § 2
! favmas vd wRi w1 oavm wifm |

Explain the provisions of Income Tax Act regarding the
following : 16
fa}  Commuted Pension

(b)  Compensaton for Retrenchment.

Hefale & o o sren afufem & g sy
T i

() 99 = THEYe ufw

(@) J=t & www ahgE

(3-19) L-12112 3 P.T.O.
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BCQ/A-16 12114
SALES-PROMOTION AND PUBLIC
RELATIONS-II
BC-606
ASPSM

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is conipulsory. Attempt Four questions from
the remaining eight questions. All questions carry equal
marks.

T Hem | At 2 v e wew H " e
IR W wifew | omsdt vl % e wAH

es

1. Compulsory Questions : Write notes on the following :

(1)  Press Release 2Ys
(i) Audio-Visual Media 2%
(ii1) Publicity and Public Relation 2V
(iv) Sales Promotion 2%
{v} Handouts 3
(vi}  Public Service Activities. 3
(y v s

(2-08)1.-12114 P.T.O.



(i) 3va-#=9 HeEw
(ill) ¥EN Ud SId9H
(iv) Taswa wam

(v) fasg-gmur 9w
(vi) <H-Hen fwamd |

2. What 1s meant by Public Relation Tools ? How are they
used in marketing ? 16
TR AW W ow oad 2 7 F faum § faw
THR W R oWm ¥ 2

3. Explam in detail the various local aspects of Sales-
Promotion. 16
faga davd = fafv= wurfm w=qgst = faards
guiF wifsn |

4. How are sales-promotion programmes developed ? Why
is 1t necessary to evaluate them ? : 16
TR oA R W oF: emEvaE ® 2

5. Explain in detail the similarities of Public Relations and
Publicity. 16
SEEEE d9 FER W mEEd@et w1 femneds 9om
Hifsa |

6. Lxplamn m detail the various techniques of Sales-
Promotion. 16

L-12114 2

FH FUA FHIAT |

How will vou develop the sales-promotion programme of
an Advertising Agency ? 16
T A USH w1 fowd gade wEEn onw #9 99w
F 7

Write detailed notes on the following :

(1)  Modifying the sales-promotion programmes 8
(11)  Ethical Aspects of Sales-Promotion. 8
frafefed W foamyd®s b fafan

(y foba Hadw =wrfew A ufEds

(i) fowa dad & Hffemes oot we |

Explain the importance of public relations, with the help

of suitable examples. 16
TIHTE H HEd H 39 ISR &) werg@ 9ol
SifsT |

(2-08}1.-12114 3 200
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OBCE/M-16 12147
BUSINESS COMMUNICATION-]
BC-201

Time : Three Hours) [Maximum Marks : 80

Note : Q. No. I is compulsory. Attempt any Four questions’

2.

(2-15)L-12147

from the remaining eight questions. All questions carry
equal marks.
TR Hem 1 StEE # L I a8 WA W " OHE W

2 &

yyg ENST ¢ owH Wy RS UHE B

Short Answer Type Quesijons

{a). Discuss pre-requisites of an cifective communication.

(bt Differentiate between memorandum and busmess
letter. .

(¢) What are visual aids ? Explain its advantages

{d) Explain sales letter,

@y Iuhg W e

(a7) guEl wER W o v # oavH #fEw

(9) =aaias 93 Te HERUSH & WY W W
FIFS |

() gfe werrs o P F 0 TWE ¥ @ F 2

(2) Tawa-93 ®1 =IRed HifEe |

State the main principles of effective commt r.cation.

TIEqY HER % ¥9E




What ts a Bad News Lener 7 What arc the various types
of Bad New [.etters 7
AR RATT R ) S wmed e
UET FE-EEE YOS

What do you mean by Rusiness Report 2 Explain the
various steps to be taken for preparation of a report.
AEiaE T A o oafwm ¢ fup e g
fafy= o 37 sy Fifaw |

What is Oral Presentation ” What are the factors affecting
oral presentation
rﬁﬂnﬁﬁﬂﬁﬂﬁmwv%@wuﬂﬁﬁﬂﬁ
BRLCE I R e s o

Wt are novovorh, aspects ot Comrunication ™ Discuss
the  funciions  and significenee of  nan verbal
communication.

TN W

.

TOF R omfEw R @ wmd

_ﬂgﬂﬁﬂmﬂ%_

~oelore the various steps involved in conducting an
wemaew L plo
%ﬁﬂﬁﬁmﬁmﬁ%.ﬁ@ww

ST Sifay

L-12147 2

Explain the term Cultural Variations.
TFRE fafTm d oo v owm ¥ 7 s

What do you mean by Intemationsi Communication ?
What suggestions would you give for adopting global
business ?

FANEE TR ¥ oy o aed ¥ AVEHE SR
® TTHG qn o T AW F ogmE 3 )

(2-15)L-12147 3 10,100

C——y



(/) 10% =fHF 1 <X F 8,000 T H 2 o9 # THI(g
S @i Hifau |
(%) fF=fafee swfte =1 Tafoan #ifm .
2x+y<6
(3) 10% =M W 9 agaiis 37 9wl =1e <7 99
Fifsg |

Note ;

RO NO. coiimrrvicrviercsrnennn

Time : Three Hours]

Total Pages : 06

OBCE/M-16 12148
BUSINESS MATHEMATICS-II
BC-202

[Maximum Marks : 80

Attempt Five questions tn all. Q. No. 1 is compulsory.
F i WA F oswy Aifen o owww w1 etfred
7

Maximize :

Z = 3x + Sy -+ 4r
Subject to 2x + 3y < 8
v+ 5z £ 10
3y 1 2y o+ 4z <15
y20,y20.:20
using simplex method. 15
TF fafs gm oewm wifsw .
Avpad wfSU . Z = 3x + 50 4 4z

EIGEL I 2y + 31 €8
2y 4+ 52 <10
LT N.~ t o4 = 15,
20, v 20,220
(2-15)L-12148 P1.0

L-12148 6 10,100



2. .rwﬁw.,.m‘..

LPP granhically -

Maximize Z = 3x + §y

Subject w

LPP W% fafu gro @ =g .
A : Z=3x + 5
EIGCE I 3x -4y = 1220
2x -y + 220
2x + 3y = 12
x<4,y22,z20
3. (& A sum of money invested at compound interest
amrounts te Rs. 2,200 m one year and to Rs. 2,662
in three years. Find the principal and the rate. 8
TE g w1 fafEn w0 W awgfy ons afa
uF w H fAgeE 2200 T oaw @9 o F 2662 %
A R | UAHH 9O S e T Eiew |
(b} Find the effective rate of interest- 6% p.a.
compounded continuously. 7
f= 6% vhaw #t wwafs =rs i W 9 guE
[ JE HfAT |
1.-12148 2

Sx - 4y 1220

P

-
b
b |
-+ v.-:
A
-

[
IV
A\
[ 29] <

<
—
N

tsdvz22z2

(2-15)L-12148 3

(a)

{b)

(a)

(b)

(a)

Find the amount of ar annuity due of Rs. 100 per
vear payable hall” yearly for 13 years to 4% p.a. 8
4% =fhw BT AW T (5 oA W anfEfyE 2o
100 & vieas #1 =Twma afy #1 et g S

Find the present vatue of an cridinary annuity of Rs.

100 per annum for 20 years ar 4% pa 7

T I

4% =F &= W g oo 77 F Brmoj00 B o#

A man borrows Rs. 10.000 at 10% and to pay ofl
the loan in 10 annual payments beginning at the
end of the fst year. What 1s the annual payment ©

8
TF TG 10% @1 7 W 0000 ¥ Tur S b
AT WO A G AT A, mem vl W ih o) oy
FT AN SRS W § oAt amAm w e )
What is the present value of a continuous income
of Rs. ..,,,co..._.ﬁ.m. for 2 vears if it is conmpouridesd
continucusty at the tate of 6% p.a. 7
A A1 3000 F AfdE W@ W gdmA geq e
T AR 0% AR TwdfE W W o € 2

At what rate Rs. 4,000 will amount to Rs 14,400
in 13 years at compound inierest quarterly ? 8
TIFEE S F W oW 13 AW n
4,000 & W OTEA 14400 5 F @ OWEW

P.T.0O.



(by  The S.1 and C.1 on a certain swm for (W years are
Rs. 40 aud Rs. 41. Find the rate ard the sum. 7
el WE W 9 osw & Al WU S G
TEalE PN FEY: 40 R W 41 T ¥ 1 g
G B I

7. Which is a better investment i2% p.a. compounded
quarterly or 12.2% p.a. compounded continuousty. 15
129, Had AU TRghE wE W UEl 12.2% e
AR THgE A W W ¥ mEE AR EWH W 2

8. Solve :

Minimize 7 - 3w 3 4 (8O0
Subiect w . Xy = 30
X< 45
oo
A Tov D
oxzvz 15
TR A
7w Zav 3y + 1n00
P S 1Y)
x < 19
vy <20
x+y 2 5
xz 0y 20 15
L-12148 4

9.

Compulsory Questions :

3
{a)  What sum will vield Rs. 1,716 as S.1. in wM years
at 10% pa. ? 4
(b  Find the dual problem of Z_. = 2. - 3y 4

Subject to : v + 3y < 12

2x+yz6
x-Sy =10
20,y 20

(¢) Find the C.I. of Rs. 8.000 for 2 years at 10% per

annum 4

(dy  Draw the graph of wnguation : 4
2x+1v 20

{e)  Find the effective rate of interest of 10% p.a. payable

half vearly. 4

afrard ueA

() 10% afbds YT = 2 1 N‘M 74 o fEad
safE "/ O17te BB 9T 2
() Zy, = 20+ 3y _ 4

gferas) v+ <12

(2-15) L-12148 5 P.T.O.



‘9" A sEmw e fREw om faer g9 W owedfs w2 o

(i) e+ 9 6 vfava w1 wH W@ |

(i) TRU =+ Fmaea 5 gfewm 7% & e S

(i) g @@ w1 ¥ 20 vfovm & Ffg & 9w

(iv) 389 & = & fou T 770 &1 w@Eyaw &
T

vy fafmr w0 =eer € 8500 =T fom s

(viy ®H ®I =Ef ¥ 10800 °H # ‘g w1 owm ‘e’
AW & wE § Oumifad ® fem o= W
g T enal #1503 ° @en | (g # feaw
FE WA AE @en ST 1)

(vii) T FH w wma e ¥ 28,000 fruifw w1 v 2
@ ofeh ‘e’ B W W 53w sym A wE
A F dSt o\ T oswMR W garifaa
A #i FH ud ey w) dwE A @ W
I 1 B e B

WHel H o witey, fugel @amu AR ‘"’ & vm o#

AF IHF AWM F YAH, @@ W EErrd it |

L-12149 8 10,100

Roll No. o Total Pages : 08

OBCE/M-16 12148
FINANCIAL ACCOUNTING-II
BC-203

[me : Three Hours] EMuxiinum Marks @ 80

Note . Atempt Five questions in all. Q. No. 1 is compulsory,

U WA ® I AU oy e 1wt

7

I.  Explain in bricf : 3+3+5+3+2
{a)  Over-riding Commission
(by Memorandum Joint Venture Account
(¢) Voreign Branch
(d) Transfer ol Asset to Third Party
(¢)  Net Payment Method
(fy  Abnormal Losses.
(=) sl #dnE
(7)) TS WA PIEH
(7)Y TEEvh s
(%) [o=E I AT umeRr ) weAn
() v gaam fafy
(F) FEmEr ogfaar

&

(2-14) 1-12149 T



&% 999 g &

What is Consignment Business 2 What is the difference
between Consignment and Sale 7 What entries are passed

in the books of Consignor in the Connection ?

& a

UNT EEE o € 7 fawmm s yu | @ W ¥ 0
Yo H TR ¥ 3Od Gafya s wfafesl s owA
g 7

What are the features of Joint Venture ? State differences
between Joint Venture and Consignment, 16
TqF WEd Hi ¥ favmand € 7 "gew Wwm siw 9w
q sm fofmg |

What is Goodwill ? Write journal entries of goodwill at
the ume of admission and retirement of partner. 16
Tfd F % 7 UERR 9w I sEem wEm w5

fzar gy |

When a purchasing nm::_um:% purchases partnership firm.
then what accounting records arc made in its books 716
TR H @ o fwa W €2

Lokesh Ltd. sent goods to its Ratlam Branch at cost plus
25%. From the following particulars prepare Branch Stock
Account. Branch Adjustment Account and Branch Proiu

and l.oss Account 16

E-12149 2

3

Opening Stock at Invoice Price 5,000
Goods sent to- Branch 20.000
[Loss-in-transit 2.500
Theft at invoice price 1.000
Loss in weight (normal) at invoice price 300
Sales 25.500
Expenses 8.000
Closing Stock at branch at Invoice Price 6.000
Ciaims received from insurance company for

loss-in-transit by Head Office 2.000

e fd. 4 sl wem gt o AME ¥, + 25% W
TS | dW 98 Y- e TFHEY

3
sfers =i @fee gem W 5.000
WE H A G 20.000
i = O | o 2.500
I dew g W _ 1,000
I H FH (W) diNE ge W 500
fare 25.500
LC] 8,000

(2-14) L-12149 3 P.T.0.



af<a when s e 6,000
TR FATT F oapt §oafy o fae
A W e gnm fee 2.000

On Tst January, 2005 Suchin purchased a machine from
Ashoka Limited on hire-purchase svstem, The cash price
of machine was ¥ 1,30.000 and the payment was (o be
made T 40,000 down and remainder in three equal
instalments of ¥ 30.000 cach together with interest at
15% p.a. Sachin writes off depreciation @) 10% on written
down value method. Sachin could not pay the instalment
due on 31st December, 2006 and Ashoka Limited arranged
immediately 10 take back the machine which cost # 60.000
allowing ¥ 41500 provided that Sachin paid all the interest
duc to that date on the [yl amount owing.

Show Machine Account and Ashoka [imited's Account in
the books of Sachin. |

! ﬁmﬁ.%%ﬂ%»ﬁ%ﬁ@?ﬁﬁﬁuﬂﬁ
forer w7 wgfs w omd W wEm oy
T 130.000 = =7 T qEE T 40000 a3 vy
CI0000 ) 41 TE AiTE e 5 50, =ra dfga
aﬂﬂﬂﬁﬁ_ﬁﬂxﬁﬁawﬂqﬂmﬁ;fﬁ
feom @ mm w2 weem 3 fEEE 2006 %
ﬁﬂﬁﬁmﬁﬂuﬁﬁﬁxﬁs&ﬁ%x

«~12149 4

%.m%«%.:%%aiu&mﬁﬁ_,moom%
%ﬁﬁﬁ@ﬁﬂamﬁﬁgmﬁm@mﬂ%
W e wm g oww
%ﬁmﬂimﬂ?ﬁ@a%ﬁiﬁ@?ﬁ
F W@ TR |

X. Y and 7 are partners with capital of X 80.000:
T 60000 and T 40,000 respectively. They charged 8%
p.a. interest on their capitals and divide the.profits in the
ratio of 3 2 1 1. X has guaranteed that 7's share shall

not amount (g less than ¥ 10,000 in any one year.

Their drawings during the year were ¥ 10.000: T 8,000
and T 7.060 respectively. Net profits for the vedr before
providing irterest dn capital was ¥ 50.400. Prepare Profit

and Loss Appropriate A/c.
mﬁ_%mgﬁﬁﬂmwﬁmﬁ@%wﬂﬂua

&

80.000: T 60.000 721 2 40000 % | =g B O
EULE E Rz c IS g TH OB 3201 % spm
@ﬁ@mﬁmwmdﬁwﬁ@%wwﬂm@ﬁg
T oA 2 10000 ) =y R

T F WE T wwm gwy. g 10.000: ¥ 8.000 For

«q.oeoa_ﬁﬂmﬁm%ﬂﬁaﬁ@ﬁ
¥ 50400 F TW gW 1 oA wify v T a7y |

(2-14) L-12149 5 P.T.O.



The Balance Shect of A, B and C who were sharing
protits and losses in proportion of their capitals stood as

follows on 31st December, 2004 -

FLiabilities Amount Assels Amounts
7 4

Sundry Creditors 6,900 Cash at Bank 5.500

Investment 4

Fluctuation Fund 7.500 Sundry Debtors 5,000

Less s Provisions 100 4.900

Capitat Accounis :

4 Stock 8.600
A 18.000 Investments 1A
B 13,500 Land and Building 23.600
C 9,000 40,500

B retred on the above date and the following was agreed

upon

(1) That stock be depreciated by 6%,

(1) That the Provision for Doubttul Debts be brought
up to 3% on Debtors.

(1) That Land and Building®be appreciaied by 20%,.

(iv) That a provision of T 770 be made in respect of

outstanding legal charges.

(v} Investments are brought down to T 8.300.

L-12149 6

(viy  That the Goodwill of the firm be fixed ot ¥ 10.800
and B's share of goodwill will be adjusted into the
accounts of A and € who are going to share future
profits in the ratio of 5 © 3 (No Goodwill Account
Is o be raised.) .

vty That the entire capital of the firm as newly
consituted be fixed at T 28,000 between A and C in
the proportionate of 3 : 3. The capital accounts of
toth will be adjusted on this basis and the deficit
or excess to be brought in or paid off in cash as the
case may be,

Pass journal entries and show the Balance Sheet after

transterring B's share to a scparate Account in his name.

AB A C, 51 993 =e-2ifT & ol IS % s

q Aled ¥, W O3 fewmmm # afEE faem e owwn

g1

7 4
fafas @ar 6000 ¥% 5 Twe 5.500
faf == . z
fafy 7.500 fafay Zaep 3.000
GG NP ¢ TI : JT9HM 100 4.900
A 18.000 L= 8,000
B 13.500 fatmy 11,500
C 9.000 40,500 | =7 9T 25400
(214 L-12149 7 P.T.O.
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OBCE/M-16 12150
BUSINESS MANAGEMEN -]
BC-204

Time : Three Hours} [Maximum Marks : 80

Note :

(1i1)

(iv)

(¥)

Q. No. I is compulsory. Attempt any four questions
from the remaining eight questions. All questions carry
equal marks.
WA HEA |1
W YT & 3 AT ) oal wo % o wgm 7

ot

| Y9 e o9v § § fae

Write any three features ol | eadership. 3
g w1 (A A favivaal a7 s st

What ts meant bv Fihnancial Incentives™ 3

“fadtm yworen' omr ommr owel F 0
What do you mean by Quantitative Standards 2 3

&,

TEAeHe  9ard] o ATE TN oAfawg ¢ )
What is meant by “Feedback™ in Communication
Process 7 3
wewmed wiEA W s @ owm oad & 0

What 1s Management Audit ? 2

o

5

TEAHRIE AFE F= OE 7

(2-14) L-12150 P.T.O.



rh

(i) What do you mean by ‘External Change Agent” ?
2
ey ufends wSiz) § Awl w Afwga 7

What is Leadership 7 Why is there a need for [eadership 7

Discuss the different styles of Leadership. 10

g w2 7 A9 H SEeAEAl #F OIEA ' 7 Ay
1 fafags e &1 fgg=a =ifean

Explain the concepts of Maslow and IHerzberg rcgarding
motivation. Explain their similarities and dissimilarities.

16
gfgen . F9w 9 wmen 3 wead #® faEm #
IR | &l wEEaE  oqd sEEmE w R
Fifaw |

Describe various barriers to  Communication. What
measures do vou suggest to overcome them 7 16
fodl Wi o wiweEd d A ke 4 g €7
IR dg W fFm W wHw T 7 |

What is Control ? Describe the process of Control. Also
explain the areas in which control is exercised. 6
fiam wn w2 ¢ fEAw 9fEAW A AU i |

Iy

T ) WAy e fEgor fea &= ® fewm S g 7

L-12150 2

9,

What do you understand by budgetary control ? Explain
the procedure of budgetary control. 16
s

qeFE faan O W9 w oned ¢ 2 wwdg frem
yfewar &1 9UH FiET |

Why do people resist change ? How will you overcome
the resistance 7 16
=i A w1 fatw s ow ¥ 7w 3w fanw
® OFE T OB 7

Write detailed notes on the following :

(i} ‘The Trait Theory of leadership

(11} Non-monetary motivaiors. 16
frafefas w fama fooftral fafEw
(1) g h1 TOEER R

- (i) omifrw sifawE |

Explain the various channels of communication which
are generally used in a modern Business Organisation. 16
weerged =1 fafu= sfmensi @1 ool =S

(2-14) L-12150 3 10,100
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OBCE/M-16 12151
BUSINESS- ECONOMICS-11
BC-205
Time : Three Hours] [Maximum Marks : 860

Note : Attempt Five questions in all. Q. No. 1 1s compuisory.
All questions carry equal marks.
et o wedl % I e | v Hew 1 sfed

T oGt Yy ® #HE 9EA F |

1. Answer the following short type questions :

(a) Kinds of Discriminating monopoly 3
(b) Market price and Normal price 3
(¢) Rent and Quasi Rent 3
(d)  Shut down point 3
(e) What is selling costs ? 2
(f) Liquidity Trap 2

T IWE YA & 3T A
(1) favarmE FYFER & 9FE

() AT RIEG qU WA A

(F) o qa 9 A

() 3EA T35 & # foufm

(7) fawm = s ek 702

T S B s (3 HI o

(317 L-12151 P.T.O.



2

F4n

Explamn crincally the profit maxunisation and  sales

=

maximisation goals of the firm. 1
FH OH AN wlwwmans i o7 Rl Afuwamsn wme
FT FEAHES AT FNET |

Attempt the foliowing : 8+8

(a)  Short-run and long-run cquilibrivim of’ 2 monopoly
fim.

(b) Comparison between Pertect Competition and
Monopoly.

frafafea 5 s Zifem .

(31) THIRE ®H F FCTRCA d AEEEE SieA

(9) g gfoafiar Fen wREER 9 qed |

What is Eo:o‘no:m:.a competition 7 How is price and
outpul n_ﬂm-.:.i:ma under the conditions of monopolistic
competition. 4,12
TR T >
¥ S FHG qO IEEA FOFAERM F9 s ¥ 7

What is Perfect Competition 7 Discuss the short-run and
long-run equilibriunt of a tirm under Perfect Competition.
. 4.12
o afgEE = g q UF HH
F ICUFER 9 AHFCE AqeT # fggEd Fmien

i
2

1.-12151 2

Discuss the features of Oligopoly market. Why decs
oltgopoly exist ? 8.8
srnar oA wm fEvmasd w1 faEem wifem
AR ¥ T CTA 8 7

Critically evaluate Lounable Fund Theoryv of Interest. 16

EiE i e C et S e o e B | | e ol i

Discuss the Ricardian theory of Rent with 1its relevance.

16
fapzl & e fAgre & fEE #ifEr 9w g9l
IgFTA w1 Ioord FITAT |

Explain the following - 8.8
(a)  Risk Theory of Profit

(by  Uncenainty Bearing Theory of Profit

freafafem =1 =men =it .

(&1) “nm = wifem fagrm

() = F wfafvaas o 51 fAEE |

(3-i7) .- 12151 3 10,100
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Time : Three Hours]

Note :

Total Pages : 03

OBCE/M-16 12152
BASICS OF COMPUTER-H
BC-206

[ Mavinum Marks @ R0

Attempt any Five questions. All queshons carny equal

marks.

o=l Ui ool % = MU 0 7S v F 4w
mE E

(a)

(b)

()

(<)

(a)

(b)

()
()

e Gl NI ER | A G LA Rt T2 e A e

How 1s computer useful v commerce  and
marketing ?

Define Computer. Discuss the advantages of 4
computer syster. 8+8=1¢
FI W AN B FEgm om g #H L
22

F GV HIAT

Discuss the different types of digital computers.

Explain the different components of Contrad
Processig Unit. 818=16

.

fediea 2y & [3fgA 93m 71 99 Ffsg
— .

N -

TH7 F fAfes e # w

(3-16) L-12152 PO,



3.

What do you mean by software ? Discuss the different
types of software. What is their role ¢ 16

Tigeaa § 39 o GNEE © 7 OiREa % . fafas
THR FERT | IS F4 g @ 2

4. Define operating m%mﬁi ? Why operating system is treated
as resource manager ? Diferentiate between different
types of operating systems. 16
sfmifen fawed &1 wfeamw Sifsw | wAeR FSR w9
H sfwfen faew #1 wm w1 fea Sm § 7 awfen
foen & faf= v 4 v e #ifaw o

3. (a) What are the different types of cell references used

m MS-Excel ?
(b) What are the statistical functions supported by
MS-Excel ? Discuss. 8+8=16
(#) MS-Excel ® 7% 9o T & fafs= war ==
g 7
(d) MS-Excel 301 Tui¥m FA F ¥ 2 T
EAIE I
6. {(a) Explamn insertion and deletion of rows and columns
in MS-Excel. |
(b)y  Write steps to insert a chart/graph in MS-Excel.
8§+8=16
(31) MS-Excel ¥ Rows aam Columns & THYH e
feelivm =1 o[ wifET |
(d) MS-Excel § 9RANF THT F94 + #=H
F-12152 2

(b)

(31)

()

(b)

(31

()

What are the parts of a Window ? Explain the

different types of windows.

What is the use of control panel ? Discuss.
8+8=16

Window F ®H-®HH 9 & ? o fafed gam

ERIEL
FEA U w1 wn WM 2?2 wuR wifsw

Explain the different steps for installation of printer
in Windows.

What do you mean by user interface ? Differentiate
between CUlL . and GUL 3+8=16
Windows ¥ i === 3@ & fafa= w=oi =
gl iU |

IS TURE W 9 F "79E € 2 CUL 99 GUI
R HIIT |

(3-16y1.-12152 3 10,100
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BCE/M-16 12159
COMPUTER APPLICATION
BC-205
Computer Fundamentals and Logical
Organisation-11
Time : Three Hours} [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 consisting iive

questions of 4 marks each is compulsory. Attempt four
questions from the remaining cight questions carrying
15 marks each.
w@ dtg g & I 49T | oy wem 1 e
% food wAF W 4 % W ¥ | YW sUe Wl A
¥ frdl B F 3 DT 1 SR @ W 15-15
sH w ¥

1. (a) Differentiate between latch and flip-flop. 4
(b) Describe the operation of exclusive digital logic
gates. 4

(¢c) Explain the working principle of half adder. 4

(d) Differentiate between static RAM and dynamic
RAM. : 4

(¢} Explain the concept of microprogramming. 4

(3-14) L-12159 P.T.O.



(a1) foem-uw=ig = @y == w1 e =it
(7} @7 fefoed a3 e & A F AT R |
(my o A W wmwm w18 TagiE . mren wife
(7) Wl i oaw W oE fagg EEr

(Z) WEEGETEN FONESEIT S s

2. Obtain the TT of the fellowing functions and express
cach in product-of-max term

(a) AC+ ABU 8
(b) (X" + YV (Y + Z) 7
_ Gt ¥ OTT W WRITTT 9 s W
s " % OTHER F T H wE HIA0 e
(31) A'B + AB(C

(@) (X +Y) (Y +7)

u.mxn_mm:Eoéo%w:mvi:n%_nomBmmS?m_ma\o;
flip-flop. _ is
TB-TW W% fRm-TEm & s ow g ow s
EALE LA

v

4. Explain the single contiguous allocation of memory with
numerical examples Why is scgmentation needed in
memory management ? 15

Hofen |t & Uwe

A

o~

 Fifw | gl wEye § s & SEeEEd

2 -

FOBMEI T/

L-12159

T

5. List and explain various types of addressing modes in
compuler systen. I
Fopg et § vghim @gm v fivE wEn w
Wy wEy e T

6. Draw and exnlain the cireult disgram for A'B'+ AB with

cniy universal gates. 15
wae gaEger Wew & 9 AR+ AR F Tao wifew

<,

utgey; fgg dEET S OEEET

7. Design and explao Mod-16 asynchronous counter. 18
g

Mod-16 sqeasias Hr3et T

8. List and explain various types of Insi cotion Format. (ave

[T WASE )

suitable examples. s
friv ey ® Al weWl A7 yEEE #ifae A
HHARY 1 IYYH SEEW AT

9. Fxplain the working of DMA Conirolle: 15
EIR AR & o e i 0 2 B I A s et s

(3-14)E.-12159 3 |11



7. Discuss the following functions of electronic spreadshect
(a)y  Average
(b) Max
(cy IF
(d) Countif
(c)  Round.
TERIME Weve % frafdtem wel #m av Fifw
(H) Average
(F) Max
(q) IF
(%) Countif
(3) Round.

e
8. (a) Explain various steps to add a chart in 2 sihide in
presentation software.

{b How do vou prepare overhead trensparencies speaker
) % I i

notes n presentation software

~

(31) TR H oW ¥ An Wed w fafm

()

9. (a) How can you apnly transition effects to slides ?
(b)  What Is the difference between shde sorter, shde
view and slide show view of a presentation 7
(31) TEE ¥ T WA F 4 RGO I 8
(F) WHVH F WIEE W, WEe o 90 WhEE W o
R et

L-12160 4 2.200

ROHNO. e Total Pages : 04

BCE/M-16 12160
COMPUTER APPLICATION
BC-200
Business Data Processing and PC Software-II

Time : Three Io:_.& [Maximum Marks : 50

Note © Atlempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
A WE T H I AT | W HEn |t
goomd A ® oew owIm ¥

1. (a)  Why do you use mail-merge ?
(by What is the use of format painter in a word
processing package ?
{¢)  What is the purpose of Formula Bar in spreadsheet
software ?
(d) Discuss the stéps to Insert Rows and Columns in a
worksheet.
(e} Write the steps for linking a worksheet to a
presentation. .
{(f) What are the steps to move text in presentation
software ?
A%%nﬂﬂﬁﬂaﬁ%mu

(3-16) L-12160 PT.O.



(F)
{(H)

=
Ay

{a)

(b}

Pt
[
u}
R

(=)

L-12160

72 e Sw H wiEr owr ow owmymowEm g2

Iz AT HOWECD WY a1 9 370 B 7

~e

TE VT T Rows T Colump 392 %73 &

AWV TSI WS F W HiEy
TAIIH AR W Y A R % A @ ¥ 2

Write the sieps to find and replace text in a word
processing package,

What 1= 1he significance of Header and Footer
How will vou apply Header and Footer to vour
document ? .

7% gEfen e § THE we W A gER #F
Foy f=fae |

TT AW R W N WET ¥ 7 AT

~

-

Tm TET den BET HT WM SW FE w7

How can we share the duta with other applications
m word processor ?

How do you navigate within the documents in word
processor 7

A€ OWES K ST WA % HY SR Al gH Ay

5

Gz

L)

~

TS U H 2z § Afae 9 %W B2

4.

(3-16) L-12160 3

How will you perform the following in a word processing

package

(1)  Sorting of text

(b) Bulicts and Numbering
{c) Checking the spelling

¥ TEfET YEw ¥ frefdfee W oww oguowa

(1)
(7)
()

Sorting of fext
Bullets and Numbering

Checking the spelling

What do you mean by Chart ? Explain various types of

Charts 1 spreadsheet software
o g Y ¥ OBAGd B ¢ Wevie Wiweawm § =
# fafv= wam w1 avle wifse

(a}

(b)

(1)

(9)

What "is the purpose of filter in Spreadsheet
package 7 Explain autoftlter by giving suitable
example.

What is a macro in a spreadsheet package 7 Explain
with example. how to create and execute a macro.
weyE Tme § fhew w1 33y 4anu | 3fEa
eI wfed Ai-fre w1 A wifem o
wevfe s A FE F % 2 T W @n fewe
TN TRFEGE WY UFA € UH IR GN HEEEd |

P.T.O.



